
MATHS

BOOKS - TARGET MATHS (HINGLISH)

CIRCLE AND CONICS

CLASSICAL THINKING

1. Centre of the circel  is

A. 

B. 

C. 

D. 

(x − 3)2 + (y − 4)2 = 5

(3, 4)

( − 3, − 4)

(4, 3)

( − 4, − 3)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_QNg74eDOchu2


Answer: A

Watch Video Solution

2. The equation of the circle which touches both the axes and

whose radius is a, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2ax − 2ay + a2 = 0

x2 + y2 + ax + ay − a2 = 0

x2 + y2 + 2x + 2ay − a2 = 0

x2 + y2 − ax − ay + a2 = 0

https://dl.doubtnut.com/l/_QNg74eDOchu2
https://dl.doubtnut.com/l/_7bvlGHFyLBtd


3. The equation of the circle which touches both axes and whose

centre is  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x1, y1)

x2 + y2 + 2x1(x + y) + x2
1 = 0

x2 + y2 − 2x1(x + y) + x2
1 = 0

x2 + y2 = x2
1 + y2

1

x2 + y2 + 2xx1 + 2yy1 = 0

4. Find the equation of the circle which touches the x-axis and

whose
center is (1, 2).

A. x2 + y2 − 2x + 4y + 1 = 0

https://dl.doubtnut.com/l/_yQxTPxEcKyRb
https://dl.doubtnut.com/l/_dFZlluC0ER1A


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2x − 4y + 1 = 0

x2 + y2 + 2x + 4y + 1 = 0

x2 + y2 + 4x + 2y + 4 = 0

5. A circle touches the y-axis at the point (0, 4) and cuts the x-axis

in
a chord of length 6 units. Then find the radius of the circle.

A. 3

B. 4

C. 5

D. 6

https://dl.doubtnut.com/l/_dFZlluC0ER1A
https://dl.doubtnut.com/l/_JyPKhv9eY0HI


Answer: C

Watch Video Solution

6. Find the radius of the circle


.

A. 3

B. 4

C. 

D. 

Answer: C

Watch Video Solution

(x − 5)(x − 1) + (y − 7)(y − 4) = 0

5

2

7
2

https://dl.doubtnut.com/l/_JyPKhv9eY0HI
https://dl.doubtnut.com/l/_HPGK2UiHqmP5


7. The circle represented by the equation

 will be a point circle, if

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

g2 + f 2 = c

g2 + f 2 > c

g2 + f 2 + c = 0

g2 + f 2 < c

8. If the radius of the circle  be 11,

then 

A. 347

x2 + y2 − 18x + 12y + k = 0

k =

https://dl.doubtnut.com/l/_u4QQUolEeZ6L
https://dl.doubtnut.com/l/_sKEXOQWbmbsv


B. 4

C. 

D. 49

Answer: C

Watch Video Solution

−4

9. For the circle  which of the following

relation is true ?

A. Centre lies on X-axis

B. Centre lies on Y-axis

C. Centre is at origin

D. Circle passes through origin

x2 + y2 + 3x + 3y = 0,

https://dl.doubtnut.com/l/_sKEXOQWbmbsv
https://dl.doubtnut.com/l/_Ir4lRSNQYDxB


Answer: D

Watch Video Solution

10. For the circle  which of the

following statement is true ?

A. Circle passes through the point 

B. Circle touches X-axis

C. Circle touches Y-axis

D. None of these

Answer: B

Watch Video Solution

x2 + y2 + 6x − 8y + 9 = 0,

( − 3, 4)

https://dl.doubtnut.com/l/_Ir4lRSNQYDxB
https://dl.doubtnut.com/l/_ZxKjxSqSaHbd


11. If the circle  touches X-axis,

then

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

g = f

g2 = c

f 2 = c

g2 + f 2 = c

12. If the radius of the circel  be r,

then it will touch both the axes, if

A. 

x2 + y2 + 2gx + 2fy + c = 0

g = f = c

https://dl.doubtnut.com/l/_CPAUMolRvZCN
https://dl.doubtnut.com/l/_srYcGLbgS5ip


B. 

C. 

D. 

Answer: C

Watch Video Solution

g = f = c = r

g = f = √c = r

g = f and c2 = r

13. The circle  touches

A. X-axis

B. Y-axis

C. X-axis and Y-axis

D. None of these

Answer: C

x2 + y2 + 4x − 4y + 4 = 0

https://dl.doubtnut.com/l/_srYcGLbgS5ip
https://dl.doubtnut.com/l/_lffWBIVMw6DD


Watch Video Solution

14. Circle  touches

A. Y-axis at the origin

B. X-axis at the origin

C. X-axis at the point 

D. Y-axis at the point 

Answer: B

Watch Video Solution

x2 + y2 + 6y = 0

(3, 0)

(0, 2)

15. Which of the following line is a diameter of the circel

 ?x2 + y2 − 6x − 8y − 9 = 0

https://dl.doubtnut.com/l/_lffWBIVMw6DD
https://dl.doubtnut.com/l/_SFjgdyXixlBD
https://dl.doubtnut.com/l/_f17kOE5cllFL


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − 4y = 0

4x − y = 0

x + y = 7

x − y = 1

16. If the line 
 is a diameter of the circle 


, then find the value of 

A. 3

B. 

C. 

D. 5

x + 2by + 7 = 0

x2 + y2 − 6x + 2y = 0 b

−5

−1

https://dl.doubtnut.com/l/_f17kOE5cllFL
https://dl.doubtnut.com/l/_4sUYsbpE2voM


Answer: D

Watch Video Solution

17. The equation of the circle concentric with the circle

 is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

x2 + y2 − 4x − 6y = 0 −

x2 + y2 + 8x + 10y + 59 = 0

x2 + y2 + 8x + 10y − 59 = 0

x2 + y ∘ − 4x − 6y + 87 = 0

x2 + y2 − 4x − 6y − 87 = 0

https://dl.doubtnut.com/l/_4sUYsbpE2voM
https://dl.doubtnut.com/l/_af2RfY5RwcWW


18. Find the equation of the circle which touches both the axes

and the line 
and lies in the third quadrant.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

3x − 4y + 8 = 0

x2 + y2 − 4x + 4y − 4 = 0

x2 + y2 − 4x + 4y + 4 = 0

x2 + y2 + 4x + 4y + 4 = 0

x2 + y2 − 4x − 4y − 4 = 0

19. Find the equation of circle whose centre is the point 

and touches the line 

A. 

(1, − 3)

2x − y − 4 = 0

5x2 + 5y2 − 10x + 30y + 49 = 0

https://dl.doubtnut.com/l/_cYWmcsThOiMB
https://dl.doubtnut.com/l/_pIbJYOsnyfyQ


B. 

C. 

D. 

Answer: A

Watch Video Solution

5x2 + 5y2 + 10x + 30y − 49 = 0

5x2 + 5y2 + 10x + 30y − 49 = 0

5x2 + 5y2 − 10x − 30y + 49 = 0

20. Thte parametric form of the equation of circle 

is

A. 

B. 

C. 

D. 

4x2 + 4y2 = 9

x = cos θ, y = sin θ
3

2

3

2

x = sin θ, y = cos θ
2

3

2

5

x = sin θ, y = cos θ
3

4

3

4

x = 3 sin θ, y = √2 cos θ

https://dl.doubtnut.com/l/_pIbJYOsnyfyQ
https://dl.doubtnut.com/l/_6qo3Vc40KNi8


Answer: A

Watch Video Solution

21. The parametric representation of the circel

 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x − 3)2 + (y + 4)2 = 25

x = 5 + 3 cos θ, y = 5 − 3 sin θ

x = 5 + 3 cos θ, y = 5 + 3 sin θ

x = 3 + 5 cos θ, y = − 4 + 5 sin θ

x = 3 + 5 cos θ, y = − 3 + 5 sin θ

https://dl.doubtnut.com/l/_6qo3Vc40KNi8
https://dl.doubtnut.com/l/_Lpz9uHBBx3uj


22. Parametric form of equation given by

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x − 4y − 4 = 0

x = 1 − 3 cos θ, y = 1 + 3 sin θ

x = − 1 + 3 cos θ, y = 2 + 2 sin θ

x = 2 − 3 cos θ, y = 2 − 3 sin θ

x = 5 − cos θ, y = 5 − sin θ

23. The centre of the circel 

is

A. 

x = − 1 + 2 cos θ, y = 3 + 2 sin θ,

(1, − 3)

https://dl.doubtnut.com/l/_DK9ziVGMTKi6
https://dl.doubtnut.com/l/_Nwbv08LPUnqO


B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 1, 3)

(1, 3)

( − 1, − 3)

24. The parabola  is symmetric about

A. X-axis

B. Y-axis

C. Both X-axis and Y-axis

D. The line 

Answer: A

y2 = x

y = x

https://dl.doubtnut.com/l/_Nwbv08LPUnqO
https://dl.doubtnut.com/l/_O3zN9G8TaHj3


Watch Video Solution

25. If have vertex of a parabola be at origin and directrix be

 then its latus pectum is

A. 5

B. 10

C. 20

D. 40

Answer: C

Watch Video Solution

x + 5 = 0,

26. If the probola  passes through  then

length of its latus rectum is

y2 = 4ax ( − 3, 2),

https://dl.doubtnut.com/l/_O3zN9G8TaHj3
https://dl.doubtnut.com/l/_ihY9C7xDQggi
https://dl.doubtnut.com/l/_sOBT5PhVd5Rv


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2

3

1

3

4
3

4

27. A parabola passing through the point  has its

vartex at the origin and Y-axis as its axis. The latus rectum of the

parabola is

A. 6

B. 8

C. 10

( − 4, − 2)

https://dl.doubtnut.com/l/_sOBT5PhVd5Rv
https://dl.doubtnut.com/l/_2YRU1x8k7BBK


D. 12

Answer: B

Watch Video Solution

28. The end points of latus rectum of the parabola  are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 = 4ay

(a, 2a), (2a, a)

( − a, 2a), (2a, a)

(a, − 2a), (2a, a)

( − 2a, a). (2a, a)

https://dl.doubtnut.com/l/_2YRU1x8k7BBK
https://dl.doubtnut.com/l/_CQT7qL6OOfTt
https://dl.doubtnut.com/l/_0cposv3KqRDB


29. The co-ordinates of end points of the latus rectum of the

parabola  are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5y2 = 4x

( , ), ( − , )
1

5

2

5

1

5

2

5

( , ), ( , − )
1

5

2

5

1

5

2

5

( , ), ( , )
1

5
4
5

1

5
4
5

( , ), ( − , )
1

5
4
5

1

5
4
5

30. The ends of latus rectum of parabola  are

A. 

B. 

x2 + 8y = 0

( − 4, − 2) and (4, 2)

(4, − 2) and ( − 4, 2)

https://dl.doubtnut.com/l/_0cposv3KqRDB
https://dl.doubtnut.com/l/_gZIukq7BS5Sm


C. 

D. 

Answer: C

Watch Video Solution

( − 4, − 2) and ( − 4, 2)

(4, 2) and ( − 4, 2)

31. The points on the parabola  whose focal distance is

4, are

A. 

B. 

C. 

D. None of these

Answer: B

h id l i

y2 = 12y

(2, √3), (2, − √3)

(1, 2√3), (1 − 2√3)

(1, 2)

https://dl.doubtnut.com/l/_gZIukq7BS5Sm
https://dl.doubtnut.com/l/_HgOSvS0pnHZg


Watch Video Solution

32. The point on the parabola  whose ordinate is three

times the abscissa, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 36x

(4, 12)

(6, 2)

(2, 6)

(1, 3)

33. Which of the following points lie on the parabola 

A. 

x2 = 4ay

x = at2, y = 2at

https://dl.doubtnut.com/l/_HgOSvS0pnHZg
https://dl.doubtnut.com/l/_2iMIUC2roms4
https://dl.doubtnut.com/l/_5EVeKlLwTQj0


B. 

C. 

D. 

Answer: D

Watch Video Solution

x = 2at, y = at

x = 2at2, y = at

x = 2at, y = at2

34. Vertex of the parabola  lies in the

A. First quadrant

B. Second quadrant

C. Third quadrant

D. Fourth quadrant

Answer: D

y2 + 2y + x = 0

https://dl.doubtnut.com/l/_5EVeKlLwTQj0
https://dl.doubtnut.com/l/_hSwBeZGLS2xu


Watch Video Solution

35. If  is the vertex and y-axis the directrix of a parabola

then its focus is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(2, 0)

(2, 0)

( − 2, 0)

(4, 0)

( − 4, 0)

36. The focus of the parabola  isy2 = 4y − 4x

https://dl.doubtnut.com/l/_hSwBeZGLS2xu
https://dl.doubtnut.com/l/_PuULJugCZ6nB
https://dl.doubtnut.com/l/_XpBbmAsFDsXi


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, 2)

(1, 2)

(2, 0)

(2, 1)

37. The equation of the directirix of the parabola

 is-

A. 

B. 

C. 

D. 

x2 − 4x − 8y + 12 = 0

x = 1

y = 0

x = − 1

y = − 1

https://dl.doubtnut.com/l/_XpBbmAsFDsXi
https://dl.doubtnut.com/l/_c7rsVijaPpWk


Answer: D

Watch Video Solution

38. Axis of the parabola  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 4x − 3y + 10 = 0

y + 2 = 0

x + 2 = 0

y − 2 = 0

x − 2 = 0

https://dl.doubtnut.com/l/_c7rsVijaPpWk
https://dl.doubtnut.com/l/_P8ZWGeuxtRjX


39. The length of the latus rectum of the parabola

 is

A. 4

B. 6

C. 8

D. 10

Answer: C

Watch Video Solution

x2 − 4x − 8y + 12 = 0

40. The end points of the latus rectum of the parabola

 is

A. 

x2 + 5y = 0

( ± , − )
5

2

5

4

https://dl.doubtnut.com/l/_23dgv78DB8pV
https://dl.doubtnut.com/l/_dQ8jnKZuYtI9


B. 

C. 

D. 

Answer: A

Watch Video Solution

( ± , ± )
2

5
4
5

( ± , ± )
4
5

4
5

( ± , − )
5

4

5

2

41. The equation of the ellipse whose one cocus is at  an

whose eccentricity is  is

A. 

B. 

C. 

D. 

(4, 0)

,
4
5

+ = 1
x2

32

y2

52

+ = 1
x2

52

y2

32

+ = 1
x2

52

y2

42

+ = 1
x2

42

y2

52

https://dl.doubtnut.com/l/_dQ8jnKZuYtI9
https://dl.doubtnut.com/l/_WxCt6ayhPn6H


Answer: B

Watch Video Solution

42. Find the equation of an ellipse whose eccentricity is 2/3, the

latus
rectum is 5 and the centre is at the origin.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = 1
x2

81

y2

45

+ = 1
4x2

81

4y2

45

+ = 1
x2

9

y2

5

+ = 5
x2

81

y2

45

https://dl.doubtnut.com/l/_WxCt6ayhPn6H
https://dl.doubtnut.com/l/_NmfRBJzKMlMX


43. For the ellipse  the eccentricity is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1,
x2

64

y2

28

3

4

4

3

1

√7

1

3

44. Eccentricity of conic  is

A. 

B. 

C. 

16x2 + 7y2 = 112

3

√7

7

16

3

4

https://dl.doubtnut.com/l/_lyRKZjdvYwqe
https://dl.doubtnut.com/l/_chrKUaJBoKmK


D. 

Answer: C

Watch Video Solution

4
3

45. If the distance between the directrices is thrice the distance

between the foci, then find eccentricity of the ellipse.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

1

2

2

3

1

√3

3

2

https://dl.doubtnut.com/l/_chrKUaJBoKmK
https://dl.doubtnut.com/l/_5kpWjYOCTYM3


46. If the distance between the foci of an ellipse is equal to its

axis, then its eccentricity is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

1

2

1

√2

1

3

1

√3

47. If the foci and vetrices of an ellipse be

 then the minor axis of the ellipse is

A. 

( ± 1, 0) and ( ± 2, 0),

2√5

https://dl.doubtnut.com/l/_3fZ3FVvPT3tw
https://dl.doubtnut.com/l/_absxjREf8zwU


B. 

C. 

D. 

Answer: D

Watch Video Solution

2

4

2√3

48. Equation  represent a conic

sectin whose eccentricity e is given by

A. 

B. 

C. 

D. 

x = a cos θ, y = b sin θ(a > b)

e2 =
a2 + b2

a2

e2 =
a2 + b2

b2

e2 =
a2 − b2

a2

e2 =
a2 − b2

b2

https://dl.doubtnut.com/l/_absxjREf8zwU
https://dl.doubtnut.com/l/_6LoWL3wUcmqo


Answer: C

Watch Video Solution

49. For the ellipse  the length of latus rectum is

A. 

B. 3

C. 

D. 

Answer: B

Watch Video Solution

3x2 + 4y2 = 12,

3

2

8

3

√
3

2

https://dl.doubtnut.com/l/_6LoWL3wUcmqo
https://dl.doubtnut.com/l/_xR6esBPV6CXs


50. the length of the latusrectum of the ellipse  ,

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = 1
x2

36

y2

49

98

6

72

7

72

14

98
12

51. If the eccentricity of an ellipse be  then its latus rectum

is equal to its

A. minor axis

,
1

√2

https://dl.doubtnut.com/l/_v2YW0rUtn7NI
https://dl.doubtnut.com/l/_2LEJBircB4kS


B. semi-minor axis

C. major axis

D. semi-major axis

Answer: D

Watch Video Solution

52. If the eccentricity of an ellipse is 
and the distance between

its foci is 
then find the latusrectum of
the ellipse.

A. 

B. 

C. 15

D. 

5

8

10,

39

4

12

37
2

https://dl.doubtnut.com/l/_2LEJBircB4kS
https://dl.doubtnut.com/l/_aIZMaycT9jZb


Answer: A

Watch Video Solution

53. The distance of the point  on the ellipse 1 from

a focus is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

θ + =
x2

a2

y2

b2

a(e + cos θ)

a(e − cos θ)

a(1 + e cos θ)

a(1 + 2e cos θ)

https://dl.doubtnut.com/l/_aIZMaycT9jZb
https://dl.doubtnut.com/l/_zcnzjInJWIyz


54. The coentre of the ellipse 

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

4x2 + 9y2 − 16x − 54y + 61 = 0

(1, 3)

(2, 3)

(3, 2)

(3, 1)

55. The equation of hyperbola whose foci are

 and eccentricity is  is

A. 

(2, 4) and ( − 2, 4) ,
4
3

x2 − (y − 4)2 = 5

https://dl.doubtnut.com/l/_hrkrY9SJOSgw
https://dl.doubtnut.com/l/_3P8game6Z7cY


B. 

C. 

D. None of these

Answer: B

View Text Solution

− = 1
x2

9

4(y − 4)
2

7

− =
x2

9

y2

7

1

4

56. The equation of the conic with focus at  directrix

along  and with eccentricity  is

A. 

B. 

C. 

D. 

(1, − 1),

x − y + 1 = 0 √2,

x2 − y2 = 1

xy = 1

2xy − 4x + 4y + 1 = 0

2xy + 4x − 4y − 1 = 0

https://dl.doubtnut.com/l/_3P8game6Z7cY
https://dl.doubtnut.com/l/_6EYgT5z9yzkI


Answer: C

Watch Video Solution

57. If the length of the transverse and conjuigate axes of

hyperbola be 8 and 6 respectively, then the difference of focal

distance of any point of the hyperbola will be

A. 8

B. 6

C. 14

D. 2

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_6EYgT5z9yzkI
https://dl.doubtnut.com/l/_VotVHpjgQkcb
https://dl.doubtnut.com/l/_SEXzgbFmrAgF


58. The foci of the hyperbola 
 are
 
 b. 


c. 
d. 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9x2 − 16y2 = 144 ( ± 4, 0)

(0, ± 4) ( ± 5, 0) (0, ± 5)

( ± 4, 0)

(0, ± 4)

( ± 5, 0)

(0, ± 5)

59. The eccentricity of the hyperbola can never be equal to

A. 

B. 

√
9

5

2√
1

9

https://dl.doubtnut.com/l/_SEXzgbFmrAgF
https://dl.doubtnut.com/l/_wHEmGGm9cnjO


C. 

D. 

Answer: B

Watch Video Solution

2√
1

3

2

60. The eccentricity of the hyperbola  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − y2 = 25

√2

1

√2

2

1 + √2

https://dl.doubtnut.com/l/_wHEmGGm9cnjO
https://dl.doubtnut.com/l/_n244v7eYX2qR


61. Eccentricity of hypewrbola  is

A. 

B. 

C. 

D. 

Answer: D

View Text Solution

+ ) = 1(k < 0)
x2

k

y2

k

√1 + k

√1 − k

√1 +
1

k

√1 −
1

k

62. If  be the vertices and 

 be the foci of a hyperbola, then its

eccentricity is

(4, 0) and ( − 4, 0)

(6, 0) and ( − 6, 0)

https://dl.doubtnut.com/l/_n244v7eYX2qR
https://dl.doubtnut.com/l/_YKWmVgkhl03K
https://dl.doubtnut.com/l/_RtnPGYpoTVvA


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

5

2

2

3

2

√2

63. The latus rectum of the hyperbola 
 is


b. 
c. 
d. 

A. 

B. 

C. 

D. 

16x2 − 9y2 = 144 16/3

32/3 8/3 4/3

16

3

32

3

8

3

4
3

https://dl.doubtnut.com/l/_RtnPGYpoTVvA
https://dl.doubtnut.com/l/_fRekoRj3GuqT


Answer: B

Watch Video Solution

64. The length of the latus rectum of the hyperbola

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 − y2 = 4

8√3

4√3

16

32

https://dl.doubtnut.com/l/_fRekoRj3GuqT
https://dl.doubtnut.com/l/_LgGTJhnlz2uw


65. A point on the curve  is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

− = 1
x2

A2

y2

B2

(A cos θ, B sin θ)

(A secθ, B tan θ)

(A cos2 θ, B sin2 θ)

66. The distance between the directrices of the hyperabola

 is-

A. 

B. 

x = 8 secθ, y = 8 tan θ

16√2

√2

https://dl.doubtnut.com/l/_YLJCW12ZnGGa
https://dl.doubtnut.com/l/_PVXep0InIvUS


C. 

D. 

Answer: C

Watch Video Solution

8√2

4√2

67. The centre of the hyperbola 

, are

A. 

B. 

C. 

D. 

Answer: A

h id l i

9x2 − 36x − 16y2 + 96y − 252 = 0

(2, 3)

( − 2, − 3)

( − 2, 3)

(2, − 3)

https://dl.doubtnut.com/l/_PVXep0InIvUS
https://dl.doubtnut.com/l/_QcCnA0O8N02y


Watch Video Solution

68. The eccentricity of the hyperbola 

is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5x2 − 4y2 + 20x + 8y = 4

√2

3

2

2

3

69. The equation 

represents

x = , y = , t ∈ R,
et + e− t

2
et − e− t

2

https://dl.doubtnut.com/l/_QcCnA0O8N02y
https://dl.doubtnut.com/l/_iB0JHfSScZ02
https://dl.doubtnut.com/l/_sdnDAho2qTxm


A. An ellipse

B. A parabola

C. A hyperbola

D. A circel

Answer: C

Watch Video Solution

70. The auxiliary equation of circle of hyperbola 

is

A. 

B. 

C. 

D. 

− = 1,
x2

a2

y2

b2

x2 + y2 = a2

x2 + y2 = b2

x2 + y2 = a2 + b2

x2 + y2 = a2 − b2

https://dl.doubtnut.com/l/_sdnDAho2qTxm
https://dl.doubtnut.com/l/_1eHoiSOfa8uQ


CRITICAL THINKING

Answer: A

Watch Video Solution

1. Radius of the circle
 
 is
1

2. 3 3. 
4. 
5. 2

A. 1

B. 3

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x cos θ + 2ys∫hη − 8 = 0

2√3 √10

2√3

√10

https://dl.doubtnut.com/l/_1eHoiSOfa8uQ
https://dl.doubtnut.com/l/_vuq4htsSrik1


2. Find the equation of the circle having 
 as its centre

and passing through the intersection
 of the lines

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(1, − 2)

3x + y = 14adn2x + 5y = 18.

x2 + y2 − 2x + 4y − 20 = 0

x2 + y2 − 2x − 4y − 20 = 0

x2 + y2 + 2x − 4y − 20 = 0

x2 + y2 + 2x + 4y − 20 = 0

3. Find the equation of the circle passing through the origin and

cutting
 intercepts of lengths 3 units and 4 unitss from the

https://dl.doubtnut.com/l/_vuq4htsSrik1
https://dl.doubtnut.com/l/_KnyLue2dCshP
https://dl.doubtnut.com/l/_bf6Bhev2wDPn


positive exes.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 6x + 8y + 1 = 0

x2 + y2 − 6x − 8y = 0

x2 + y2 + 3x + 4y = 0

x2 + y2 − 3x − 4y = 0

4. If the lines  be diameters of the

circel whose diameter is 20, then the equation of the circle is

A. 

B. 

C. 

x + y = 6 and x + 2y = 4

x2 + y2 − 16x + 4y − 32 = 0

x2 + y2 + 16x + 4y − 32 = 0

x2 + y2 + 16x + 4y + 32 = 0

https://dl.doubtnut.com/l/_bf6Bhev2wDPn
https://dl.doubtnut.com/l/_CcHA4VmdIRdN


D. 

Answer: A

Watch Video Solution

x2 + y2 + 16x − 4y + 32 = 0

5. A circle has radius 3 units and its centre lies on the line y=x-1.

Find the equation of the circle if it passes through (7,3).

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 8x − 6y + 16 = 0

x2 + y2 + 8x + 6y + 16 = 0

x2 + y2 − 8x − 6y − 16 = 0

x2 + y2 + 8x − 6y − 16 = 0

https://dl.doubtnut.com/l/_CcHA4VmdIRdN
https://dl.doubtnut.com/l/_qNDO3rnQuwq5


6. The equation of a circel with center  and touching the

circel  is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

( − 4, 3)

x2 + y2 = 1,

x2 + y2 + 8x − 6y + 9 = 0

x2 + y2 + 8x + 6y − 11 = 0

x2 + y2 + 8x + 6y − 9 = 0

7. The equation of the circel with cente at  and passing

through the centre of the given circle  is

A. 

(2, − 2)

x2 + y2 + 2y − 3 = 0,

x2 + y2 − 2x + 4y + 3 = 0

https://dl.doubtnut.com/l/_xnm4VQ2h4t5F
https://dl.doubtnut.com/l/_lyXLkE1gKP4h


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − 2x + 4y − 3 = 0

x2 + y2 + 2x − 4y − 3 = 0

x2 + y2 + 2x − 4y + 3 = 0

8. Find the equation of the circle concentric with the circle

 and which touches the y axis

A. 

B. 

C. 

D. None of these

x2 + y2 − 4x − 6y − 3 = 0

x2 + y2 − 4x − 6y − 9 = 0

x2 + y2 − 4x − 6y + 9 = 0

x2 + y2 − 4x − 6y + 3 = 0

https://dl.doubtnut.com/l/_lyXLkE1gKP4h
https://dl.doubtnut.com/l/_NUvlfT7v322T


Answer: B

Watch Video Solution

9. Equation of the circel which touches the lines

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x = 0, y = 0 and 3x + 4y = 4

x2 − 4x + y2 + 4y + 4 = 0

x2 − 4x + y2 − 4y + 4 = 0

x2 + 4x + y2 + 4y + 4 = 0

x2 + 4x + y2 − 4y + 4 = 0

https://dl.doubtnut.com/l/_NUvlfT7v322T
https://dl.doubtnut.com/l/_Zk6QHiGtdrsV


10. Find the equation of the circle whose radius is 
 which

touches the circle 
externally at the

point 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

5and

x2 + y2 − 2x − 4y − 20 = 0

(5, 5).

x2 + y2 − 18x − 16y − 120 = 0

x2 + y2 − 18x − 16y + 120 = 0

x2 + y2 + 18x + 16y − 120 = 0

x2 + y2 + 18x − 16y + 120 = 0

11. The equation of circle concentric with circle

 and double its area isx2 + y2 − 6x + 12y + 15 = 0

https://dl.doubtnut.com/l/_QG9OdzR2PozI
https://dl.doubtnut.com/l/_gJMBBch2vcaX


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

x2 + y2 − 6x + 12y − 15 = 0

x2 + y2 − 6x + 12y + 15 = 0

x2 + y2 − 6x + 12y + 45 = 0

12. the equation of the circle passing through the point 

and touching -axis at the origin is

A. 

B. 

C. 

D. None of these

(2, 1)

y

x2 + y2 − 5x = 0

2x2 + 2y2 − 5x = 0

x2 + y2 + 5x = 0

https://dl.doubtnut.com/l/_gJMBBch2vcaX
https://dl.doubtnut.com/l/_zixOmMPanBVJ


Answer: B

Watch Video Solution

13. Find the locus of the center of the circle which cuts off

intercepts of
 lengths 
 from the x-and the y-axis,

respectively.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2aand2b

x + y = a + b

x2 + y2 = a2 + b2

x2 − y2 = a2 − b2

ax2 + y2 = a2 − b2

https://dl.doubtnut.com/l/_zixOmMPanBVJ
https://dl.doubtnut.com/l/_HWM75MlfZYTa
https://dl.doubtnut.com/l/_IBYuH83p2egL


14. If a circle passes through the point 
 ,

then find its center.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(0, 0), (a, 0)and(0, b)

(a, b)

(b, a)

( , )
a

2
b

2

( , )
b

2
a

2

15. For what value ofk, the points 

are con-cyclic :

A. 2

(0, 0), (1, 3), (2, 4) and (k, 3)

https://dl.doubtnut.com/l/_IBYuH83p2egL
https://dl.doubtnut.com/l/_Lk7ZLGdOixgd


B. 1

C. 4

D. 5

Answer: B

Watch Video Solution

16. The centre and radius of a circle given by equation

 are

A. centre  radius  units

B. centre  radius  units

C. centre  radius  units

D. centre  radius  units

x = 2 + 3 cos θ, y = 3 − 3 sin θ

= (2, 3), = 3

= (3, 2), = 5

= (1, 3), = 3

= (3, 2), = 3

https://dl.doubtnut.com/l/_Lk7ZLGdOixgd
https://dl.doubtnut.com/l/_KsFjyu2PDYDZ


Answer: A

Watch Video Solution

17. Radius of the parametric equation represented by

 is

A. a

B. 

C. 

D. 

Answer: D

View Text Solution

x = 2a( ), y =
1 − t2

1 + t2

4at

1 + t2

a2

3a

2a

https://dl.doubtnut.com/l/_KsFjyu2PDYDZ
https://dl.doubtnut.com/l/_lcgetRp2qgqK


18. Prove that for all values of 
 , the locus of the point of

intersection of the lines 
 and 


is a circle.

A. An ellipse

B. A circle

C. A parabola

D. A hyperbola

Answer: B

Watch Video Solution

θ

x cos θ + y sin θ = a

x sin θ − y cos θ = b

19. The equatio of the parabola with its vertex at the origin, axis

on the Y-axis and passing through the point  is(6, − 3)

https://dl.doubtnut.com/l/_KTplshU2tn7q
https://dl.doubtnut.com/l/_Mtrt0WEoLeho


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 12x + 6

x2 = 12y

x2 = − 12y

y2 = − 12x + 6

20. Equation of the parabola, whose vertex is , axis is

vertical and which passes through the point ( , is

A. 

B. 

C. 

D. 

( − 1, − 2)

3, 6)

x2 + 2x − 2y − 3 = 0

2x2 = 3y

x2 − 2x − y + 3 = 0

3x2 = 2y

https://dl.doubtnut.com/l/_Mtrt0WEoLeho
https://dl.doubtnut.com/l/_0V5nKNjD5dPD


Answer: A

Watch Video Solution

21. The equation of the parabola whose vertex is at(2, 1) and

focus at(2, -3), is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 4x − 8y − 12 = 0

x2 − 4x + 8y + 12 = 0

x2 + 8y = 12

x2 − 4x + 12 = 0

https://dl.doubtnut.com/l/_0V5nKNjD5dPD
https://dl.doubtnut.com/l/_d1kODYmijFbJ


22. Equation of the parabola whose directrix is  and

focus  is

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

y = 2x − 9

( − 8, − 2),

x2 + 4y2 + 4xy + 16x + 2y + 259 = 0

x2 + 4y2 + 4xy + 116x + 2y + 259 = 0

x2 + y2 + 4xy + 116x + 2y + 259 = 0

23. The equation of the parabola with focus (a, b) and directrix

 is given by

A. 

+ = 1
x

a

y

b

(ax − by)2 − 2a3x − 2b3y + a4 + a2b2 + b4 = 0

https://dl.doubtnut.com/l/_Mgpz2NyLQNdu
https://dl.doubtnut.com/l/_4cJdjhcOls3r


B. 

C. 

D. 

Answer: A

Watch Video Solution

(ax + by)2 − 2a3x − 2b3y − a4 + a2b2 − b4 = 0

(ax − by)2 + a4 + b4 − 2a3x = 0

(ax − by)2 − 2a3x = 0

24. Write the equation of the parabola with focus (0,0) and

directrix 

A. 

B. 

C. 

D. 

x + y − 4 = 0.

x2 + y2 − 2xy + 8x + 8y − 16 = 0

x2 + y2 − 2xy − 2xy + 8x + 8y = 0

x2 + y2 + 8x + − 16 = 0

x2 − y2 + 8x + 8y − 16 = 0

https://dl.doubtnut.com/l/_4cJdjhcOls3r
https://dl.doubtnut.com/l/_zdheVzMDZV8p


Answer: A

Watch Video Solution

25. The equation 

 will represent a

parabola, if

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(13x − 1)2 + (13y − 1)2 = k(5x − 12y + 1)2

k = 2

k = 81

k = 89

k = 1

https://dl.doubtnut.com/l/_zdheVzMDZV8p
https://dl.doubtnut.com/l/_D7HeOJ1jswGy
https://dl.doubtnut.com/l/_iuptuHowhItO


26. vertex of the parabola  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9x2 − 6x + 36y + 9 = 0

( , − )
1

3

2

9

( , )
−1

3

−1

2

( , )
−1

3

1

2

( , )
1

3

1

2

27. The equation of parabola is  then

which of the following is correct ?

A. Vertex 

B. Focus 

y2 + 8x − 12y + 20 = 0,

(2, 6)

(0, 6)

https://dl.doubtnut.com/l/_iuptuHowhItO
https://dl.doubtnut.com/l/_jyWXDE72GxcD


C. Latus rectum =14

D. Axis 

Answer: A::B

Watch Video Solution

y = 4

28. If the vertex of the parabola  lies on x-axis, then

the value of c, is

A. 

B. 

C. 4

D. 

Answer: D

h id l i

y = x2x + c

−16

−4

16

https://dl.doubtnut.com/l/_jyWXDE72GxcD
https://dl.doubtnut.com/l/_igglHrb0quBS


Watch Video Solution

29. If the line 
 is the directrix of the parabola 


, then one of the values of 
is
 
(b) 8 (c) 4
(d) 

A. 

B. 

C. 4

D. 

Answer: C

Watch Video Solution

x − 1 = 0

y2 − kx + 8 = 0 k
1

8
1

4

1

8

0

1

4

30. The axis of the parabola  is9y2 − 16x − 12y − 57 = 0

https://dl.doubtnut.com/l/_igglHrb0quBS
https://dl.doubtnut.com/l/_OjTLFBa0cTxM
https://dl.doubtnut.com/l/_TkCjgozDvmvl


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3y = 2

x + 23y = 3

2x = 3

y = 3

31. The latus ractum of a parabola whose directrix is

 and focus is  is

A. 

B. 

C. 

D. 

x + y − 2 = 0 (3, − 4),

2√2

3√2

6√2

3

√2

https://dl.doubtnut.com/l/_TkCjgozDvmvl
https://dl.doubtnut.com/l/_0phEzYtVf7Iw


Answer: B

Watch Video Solution

32. The equation of the latus rectum of a parabola is 

and the equation of the tangent at the vertex is 

Then find the length of the latus rectum.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x + y = 8

x + y = 12.

4√2

2√2

8

8√2

https://dl.doubtnut.com/l/_0phEzYtVf7Iw
https://dl.doubtnut.com/l/_0OQaqVWOKknX
https://dl.doubtnut.com/l/_R8J85UIkwVvP


33. Prove that the equation  is

represent a parabola and whose axis is parabola to x axis.

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 + 2Ax + 2By + c = 0

x =
B2 + A2 − C

2A

x =
B2 − A2 + C

2A

x =
B2 − A2 − C

2A

x =
A2 − B2 − C

2A

34. The length of the latus rectum of the parabola whose focus is

y=u^2/2g`,is

A. 

( g sin 2α, − g cos 2α) and directrixis
u2

2

u2

2

cos2 α
u2

g

https://dl.doubtnut.com/l/_R8J85UIkwVvP
https://dl.doubtnut.com/l/_xBQUctZ6bemF


B. 

C. 

D. 

Answer: D

Watch Video Solution

cos 2α
u2

g

cos2 2α
2u2

g

cos2 α
2u2

g

35. The co-ordinates of a point on  whose parameter is

-2 are

A. 

B. 

C. 

D. 

2y2 = 7x

( , − )
7
2

7
2

( , )
1

2

1

3

(1, − 2)

(1, − 3)

https://dl.doubtnut.com/l/_xBQUctZ6bemF
https://dl.doubtnut.com/l/_pYpxS9BSMTwY


Answer: A

Watch Video Solution

36.  are the parametric equations of the

parabola-

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x − 2 = t2, y = 2t

y2 = 4x

y2 = − 4x

x2 = − 4y

y2 = 4(x − 2)

https://dl.doubtnut.com/l/_pYpxS9BSMTwY
https://dl.doubtnut.com/l/_Sk254qMQolsJ


37. The parametic representation  represents

A. A parabola with focus 

B. A parabola with vertex 

C. A parabola wit vertex 

D. A parabola with vetex 

Answer: B

Watch Video Solution

(2 + t2, 2t + 1)

(1, 2)

(2, 1)

(0, 0)

(1, 2)

38. The equation of the ellipse whose centre is at origin and

which passes through the points  is

A. 

B. 

( − 3, 1) and (2, − 2)

5x2 + 3y2 = 32

3x2 + 5y2 = 32

https://dl.doubtnut.com/l/_qf2O360064K9
https://dl.doubtnut.com/l/_ku0ksK5VjNjV


C. 

D. 

Answer: B

View Text Solution

5x2 − 3y2 = 32

3x2 + 5y2 + 32 = 0

39. The locus of a variable point whose distance from  is 

 times its distance from the line  is

A. Ellipes

B. Parabola

C. Hyperbola

D. None of these

Answer: A

h id l i

( − 2, 0)

2

3
x = −

9

2

https://dl.doubtnut.com/l/_ku0ksK5VjNjV
https://dl.doubtnut.com/l/_9K64GM2U0zzx


Watch Video Solution

40. The equation of the ellipse whose centre is  one of

the foci is  and the corrsponding vertex is  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(2, − 3),

(3, − 3) (4, − 3)

+ = 1
(x − 2)

2

3

(y + 3)
2

4

+ = 1
(x − 2)2

4

(y + 3)2

4

+ = 1
x2

3

y2

4

+ = 1
x2

4

y2

3

41. The equation of the ellipse whose vertices are  and

foci at  is

( ± 5, 0)

( ± 4, 0)

https://dl.doubtnut.com/l/_9K64GM2U0zzx
https://dl.doubtnut.com/l/_fl1mZCLgT8Un
https://dl.doubtnut.com/l/_yHfTkrh1sqlk


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9x2 + 25y2 = 225

25x2 + 9y2 = 225

3x2 + 4y2 = 192

4x2 + 3y2 = 192

42. Find the equation of the ellipse with foci at


as one of the directrices.

A. 

B. 

C. 

D. 

( ± 5, 0)andx =
36

5

+ = 1
x2

36

y2

11

+ = 1
x2

6

y2

√11

+ = 1
x2

6

y2

11

+ = 1
x2

11

y2

6

https://dl.doubtnut.com/l/_yHfTkrh1sqlk
https://dl.doubtnut.com/l/_gJ7Lwb7havEr


Answer: A

Watch Video Solution

43. The equation of the ellipse whose one of the vertices is 

and the corresponding dirctrix is  is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

(0, 7)

y = 12,

95x2 + 144y2 = 4655

144x2 + 95y2 = 4655

95x2 + 144y2 = 13680

144x2 + 95y2 = 13680

https://dl.doubtnut.com/l/_gJ7Lwb7havEr
https://dl.doubtnut.com/l/_U1HyFiRkB7HS


44. An ellipse 
passes through the point 

and its eccentricity is 
 . The equation of the ellipse is



 (b) 
 
 (d) 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

+ = 1
x2

a2

y2

b2
( − 3, 1)

√
2

5

3x2 + 5y2 = 32 3x2 + 5y2 = 48 5x2 + 3y2 = 32

5x2 + 3y2 = 48

3x2 + 5y2 = 32

3x2 + 5y2 = 25

3x2 + y2 = 4

3x2 + y2 = 9

45. The latus rectum of an ellipse is 10 and the minor axis Is

equal to the distnace betweent the foci. The equation of the

https://dl.doubtnut.com/l/_tnA0YVArcQEr
https://dl.doubtnut.com/l/_If6cFrjiw1M1


ellipse is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + 2y2 = 100

x2 + √2y2 = 10

x2 − 2y2 = 100

√2x2 + y2 = 10

46. Find the equation of an ellipse the distance between the foci

is 8
units and the distance between the directrices is 18 units.

A. 

B. 

C. 

5x2 − 9y2 = 180

9x2 + 5y2 = 180

x2 + 9y2 = 180

https://dl.doubtnut.com/l/_If6cFrjiw1M1
https://dl.doubtnut.com/l/_W888Df8baUeu


D. 

Answer: D

Watch Video Solution

5x2 + 9y2 = 180

47. The equatio  represents an ellipse, if

A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

+ + 1 = 0
x2

2 − r

y2

r − 5

r > 2

2 < r < 5

r > 5

https://dl.doubtnut.com/l/_W888Df8baUeu
https://dl.doubtnut.com/l/_SZYiRk9d78Ia
https://dl.doubtnut.com/l/_sqSFF8OoeMw9


48. The equation of the directrice of the ellipse

 are

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

16x2 + 25y2 = 400

2x = ± 25

5x = ± 9

3x = ± 10

3x = ± 25

49. If the distance betweent a focus and corresponding directrix

of an ellipse be 8 and the eccentricity be  then length of the

minor axis is

A. 3

,
1
2

https://dl.doubtnut.com/l/_sqSFF8OoeMw9
https://dl.doubtnut.com/l/_lQvCxxNCh3UX


B. 

C. 6

D. 

Answer: D

Watch Video Solution

4√2

16√3

3

50. The distnce between the foci of the ellipse  is

A. 2

B. 4

C. 6

D. 8

Answer: B

3x2 + 4y2 = 48

https://dl.doubtnut.com/l/_lQvCxxNCh3UX
https://dl.doubtnut.com/l/_VCticlkzztJi


Watch Video Solution

51. Eccentricity of the ellipse whose latus rectum is equal to the

distnce between two focus points, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√5 + 1

2

√5 − 1

2

√5

2

√3

2

52. Filnd the distance between the directrices
 the ellipse

+ = 1.
x2

36

y2

20

https://dl.doubtnut.com/l/_VCticlkzztJi
https://dl.doubtnut.com/l/_5iFhIkATMQJt
https://dl.doubtnut.com/l/_qZA7yjviTkeg


A. 8

B. 12

C. 18

D. 24

Answer: C

Watch Video Solution

53. The equation of the circle passing through the foci of the

ellipse  and having centre at (0 , 3) is _

A. 3

B. 5

C. 4

D. None of these

+ = 1
x2

16

y2

9

https://dl.doubtnut.com/l/_qZA7yjviTkeg
https://dl.doubtnut.com/l/_4DJ21FJq7LhC


Answer: C

Watch Video Solution

54. Prove that the curve represented by


is an
ellipse

A. an elipse

B. a parabola

C. a hyperbola

D. a circle

Answer: A

Watch Video Solution

x = 3(cos t + sin t), y = 4(cos t − sin t), t ∈ R,

https://dl.doubtnut.com/l/_4DJ21FJq7LhC
https://dl.doubtnut.com/l/_guPmMIgvHCku


55. The length of the axes of the conic ,

are

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

9x2 + 4y2 − 4y + 1 = 0

, 9
1

2

3,
2

5

1,
2

3

3, 2

56. The co-ordinates of the foci of the ellipse

 are

A. 

3x2 + 4y2 − 12x − 8y + 4 = 0,

(1, 2), (3, 4)

https://dl.doubtnut.com/l/_Fu2NiihSHARt
https://dl.doubtnut.com/l/_ndjz6RdguwpS


B. 

C. 

D. 

Answer: C

Watch Video Solution

(1, 4), (3, 1)

(1, 1), (3, 1)

(2, 3), (5, 4)

57. The eccentricity of the ellipse


is
 
b. 
c. 
d. 

A. 

B. 

C. 

D. 

4x2 = 9y2 = 8x + 36y + 4 = 0
5

6

3

5

√2

3

√5

3

5

6

3

5

√2

3

√5

3

https://dl.doubtnut.com/l/_ndjz6RdguwpS
https://dl.doubtnut.com/l/_AVnsgBK7QJtA


Answer: D

Watch Video Solution

58. An ellipse is described by using an endless string which is

passed over two pins. If the axes are  and , the length of

the string and distance between the pins are .........

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

6cm 4cm

6, 2√5

5, √5

4, 2√5

6 + 2√5, 2√5

https://dl.doubtnut.com/l/_AVnsgBK7QJtA
https://dl.doubtnut.com/l/_TNuHRVMgZwtX
https://dl.doubtnut.com/l/_W0Zx2J5CmdCD


59. The length of the transverse axis of a hyperbola is  and it

passes through the point  The equation of the

hyperbola is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

7

(5, − 2).

x2 − y2 = 1
5

49

196

51

x2 − y2 = 1
49
4

51

196

x2 − y2 = 1
4
49

51

196

x2 − y2 = 1
51

4
490
196

60. If the centre, vertex and focus of a hyperbola be (0,0), (4,0)

and (6,0) respectively, then the equation of the hyperbola is

https://dl.doubtnut.com/l/_W0Zx2J5CmdCD
https://dl.doubtnut.com/l/_rlGi5PzHFTme


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

4x2 − 5y2 = 8

4x2 − 5y2 = 80

5x2 − 4y2 = 80

5x2 − 4y2 = 8

61. Equation of the hyperbola with eccentricity  and foci at 

 is

A. 

B. 

C. 

D. 

3

2

( ± 2, 0)

− =
x2

4

y2

5
4
9

− =
x2

9

y2

9
4
9

− = 1
x2

4

y2

9

− = 1
x2

5

y2

9

https://dl.doubtnut.com/l/_rlGi5PzHFTme
https://dl.doubtnut.com/l/_fKqy3Q0doljC


Answer: A

Watch Video Solution

62. If the latus rectum of an hyperbola be 8 and eccentricity be

 the the equation of the hyperbola is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

3

√5

4x2 − 5y2 = 100

5x2 − 4y2 = 100

4x2 + 5y2 = 100

5x2 + 4y2 = 100

https://dl.doubtnut.com/l/_fKqy3Q0doljC
https://dl.doubtnut.com/l/_9b4BnjAwZxsc


63. Find the equation of the hyperbola whose conjugate
axis is 5

and the distance between the foci is 13.

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

25x2 − 144144y2 = 900

144x2 − 25y2 = 900

144x2 + 25y2 = 900

25x2 + 144y2 = 900

64. A hyperbola, centred at the prigin, has transverse axis 2a. If it

passes through a given point  then its eccentricity is

A. 

(x1, y1),


⎷

x2
1 − y2

1 − a2

x2
1 − y2

1

https://dl.doubtnut.com/l/_Z4SqfqRWhuQZ
https://dl.doubtnut.com/l/_jIfFXRSIG0P4


B. 

C. 

D. none of these

Answer: B

Watch Video Solution


⎷

a2 − x2
1 − y2

1

a2 − x2
1


⎷

a2 + x2
1 + y2

1

a2 − x2
1

65. The equation of the hyperbola whose foci are (6.5), (-4,5) and

eccentricity 5/4 is

A. 

B. 

C. 

D. 

− = 1
(x − 2)2

16

(y − 5)2

9

− = 1
(x − 5)

2

16

(y − 5)
2

9

− = − 1
(x − 1)1

16

(y − 5)2

9

− = 1
(x − 1)2

9

(y − 5)2

16

https://dl.doubtnut.com/l/_jIfFXRSIG0P4
https://dl.doubtnut.com/l/_DfYqPCWp9Xxp


Answer: A

Watch Video Solution

66. The equation of the hyperbola whose directrix is 

focus  and eccentricity  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x + y = 1,

(1, 1) = √3,

7x2 + 12xy − 2y3 − 2x + 4y − 7 = 0

11x2 + 12xy + 2y2 − 10x − 4y = 0

11x2 + 2y2 − 14x − 14y + 1 = 0

7x2 + 10xy − 2y2 − 2x + 4y − 7 = 0

https://dl.doubtnut.com/l/_DfYqPCWp9Xxp
https://dl.doubtnut.com/l/_mtjmxxwHda2a


67. If  and  be the eccentricities of two conics  and 

 and if , then both  and  can be

A. Parabola

B. Ellipse

C. Hyperbola

D. None of these

Answer: C

Watch Video Solution

e e' S = 0

S' = 0 e2 + e'
2 = 3 S S'

68. The vertices of the hyperbola

 are

A. 

9x2 − 16y2 − 36x + 96y − 252 = 0

(6, 3) and ( − 6, 3)

https://dl.doubtnut.com/l/_xP7X6Or792u5
https://dl.doubtnut.com/l/_hSed9jxvpfsy


B. 

C. 

D. 

Answer: B

Watch Video Solution

(6, 3) and ( − 2, 3)

(6, 3) and ( − 6, − 3)

(3, 6) and ( − 3, 2)

69. The equation of the directrices of the conic

 are

A. 

B. 

C. 

D. 

x2 + 2x − y2 + 5 = 0

x = ± 1

y = ± 2

y = ± √2

x = ± √3

https://dl.doubtnut.com/l/_hSed9jxvpfsy
https://dl.doubtnut.com/l/_1oevjUAJztmU


Answer: C

Watch Video Solution

70. The latus rectum of the hyperbola

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

9x2 − 16y2 + 72x − 32y − 16 = 0

9

2

−
9

2

32

3

−
32

3

https://dl.doubtnut.com/l/_1oevjUAJztmU
https://dl.doubtnut.com/l/_LRRKZuN4Qul0


71. The locus of the point of intersection of the lines

 and  is

A. A straight line

B. A circle

C. An ellipse

D. A hyperbola

Answer: D

Watch Video Solution

ax secθ + by tan θ = a ax tan θ + by secθ = b

72. The equation 

represents

A. An ellipse

x = (t + ), y = (t − ), t ≠ 0
1

2

1

t

1

2

1

t

https://dl.doubtnut.com/l/_Ryq847qiX7sH
https://dl.doubtnut.com/l/_hMwPQOYtXywR


B. A parabola

C. A circle

D. A hyperbola

Answer: D

Watch Video Solution

73. The locus of the point of intersection of the lines

 is

A. A parabola with focus 

B. An ellipse

C. A hyperbola

D. None of these

bxy − ayt = ab and bx + ay = aby

(1, 2)

https://dl.doubtnut.com/l/_hMwPQOYtXywR
https://dl.doubtnut.com/l/_NzRQYgdkzouX


Answer: C

View Text Solution

74. If e and e' are the eccentricities of the ellipse 

and the hyperbola `5x^(2) - 4y^(2) = 45 respectively , then ee' is

equal to

A. 9

B. 5

C. 

D. 1

Answer: D

Watch Video Solution

5x2 + 9y2 = 45

−4

https://dl.doubtnut.com/l/_NzRQYgdkzouX
https://dl.doubtnut.com/l/_MDvQqWr0saXG
https://dl.doubtnut.com/l/_EV3w9SpnM1ST


COMPETITIVE THINKING

75. The centres of the circles

are

A. Same

B. Collinear

C. Non-collinear

D. None of these

Answer: B

Watch Video Solution

x2 + y2 = 1, x2 + y2 + 6x − 2y = 1 and x2 + y2 − 12x + 4y = 1

https://dl.doubtnut.com/l/_EV3w9SpnM1ST


1. If  is the centre of a circle passing through the origin,

then its equation is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(α, β)

x2 + y2 − αx − βy = 0

x2 + y2 + 2αx + 2βy = 0

x2 + y2 − 2αx − 2βy = 0

x2 + y2 + αx + βy = 0

2. Find the equation of a circle with centre (2, 2) and passes

through the point (4, 5).

A. x2 + y2 − 4x + 4y − 77 = 0

https://dl.doubtnut.com/l/_PdkW5xcAOhsg
https://dl.doubtnut.com/l/_RPxtMXs4sJrC


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y92) − 4x − 4y − 5 = 0

x2 + y2 + 2x + 2y − 59 = 0

x2 + y2 − 2x − 2y − 23 = 0

3. The centre of a circe is  and the circumference is 

Then, the equation of the circle is

A. 

B. 

C. 

D. 

(2, − 3) 10π.

x2 + y2 + 4x + 6y + 12 = 0

x2 + y2 − 4x + 6y + 12 = 0

x2 + y2 − 4x + 6y − 12 = 0

x2 + y2 − 4x − 6y − 12 = 0

https://dl.doubtnut.com/l/_RPxtMXs4sJrC
https://dl.doubtnut.com/l/_HhvEXars4VEm


Answer: C

Watch Video Solution

4. The equation of the circle in the first quadrant which touches

each axis at a distance 5 from the origin, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

X2 + Y 2 + 5X + 5Y + 25 = 0

X2 + Y 2 − 10x − 10y + 25 = 0

x2 + y20 − 5x − 5y + 25 = 0

x2 + y2 + 10x + 10y + 25 = 0

https://dl.doubtnut.com/l/_HhvEXars4VEm
https://dl.doubtnut.com/l/_y6hpppG0ClQk


5. The equation of the circle of radius 5 and touching the

coordinates axes in third quadrant, is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x − 5)2 + (y + 5)2 = 25

(x + 4)2 + (y + 4)2 = 25

(x + 6)2 + (y + 6)2 = 25

(x + 5)2 + (y + 5)2 = 25

6. The equation of the circel which touches X-axis at  and

passes through  is given by

A. 

(3, 0)

(1, 4)

x2 + y2 − 6x − 5y + 9 = 0

https://dl.doubtnut.com/l/_G3W6ssO6Ypvl
https://dl.doubtnut.com/l/_eddy3pS8MHR5


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 6x + 5y − 9 = 0

x2 + y2 − 6x + 5y − 9 = 0

x2 + y2 + 6x − 5y + 9 = 0

7. Consider the circel with centre at the point  and having

the line  as a tangent. The area of the circel is

A. 

B. 

C. 

D. 

(1, 2)

x = y

π

4

π

2π

π

2

https://dl.doubtnut.com/l/_eddy3pS8MHR5
https://dl.doubtnut.com/l/_S8PmwJHazvmR


Answer: D

Watch Video Solution

8. A circel which passes through origin and cuts imtercepts on

axes a and b, the equation of circle is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 − ax − by = 0

x2 + y2 + ax + by = 0

x2 + y2 − ax + by = 0

x2 + y2 + ax − by = 0

https://dl.doubtnut.com/l/_S8PmwJHazvmR
https://dl.doubtnut.com/l/_tpVdcExZAf8R


9. The line segment joining the points  and  is

diameter of a circle. If the circel intersects the X-axis at A and B,

then AB is equal to

A. 4

B. 5

C. 6

D. 8

Answer: D

Watch Video Solution

(4, 7) ( − 2, − 1)

10. If the lines  and  lie along

diameters of a circle of circumference , then the equation of

the circle is

2x + 3y + 1 = 0 3x − y − 4 = 0

10π

https://dl.doubtnut.com/l/_7AJzcOivhTKN
https://dl.doubtnut.com/l/_aY5zoflNZkHX


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 + y2 + 2x − 2y − 23 = 0

x2 + y2 − 2x − 2y − 23 = 0

x2 + y2 + 2x − 2y + 23 = 0

x2 + y2 − 2x + 2y − 23 = 0

11. The lines 
and 
are the diameters of

a circle of area 154 sq. units. Then the equation
 of the circle is







A. 

B. 

2x − 3y = 5 3x − 4y = 7

x2 + y2 + 2x − 2y = 62 x2 + y2 + 2x − 2y = 47

x2 + y2 − 2x + 2y = 47 x2 + y2 − 2x + 2y = 62

x2 + y2 + 2x − 2y = 62

x2 + y2 − 2x + 2y = 47

https://dl.doubtnut.com/l/_aY5zoflNZkHX
https://dl.doubtnut.com/l/_jzjmLD9PZF2v


C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + 2x − 2y = 47

x2 + y2 − 2x + 2y = 62

12. The equation of circle whose centre lies on

 and has an area 154

square units, is

A. 

B. 

C. 

D. None of these

3x − y − 4 = 0 and x + 3y + 2 = 0

x2 + y2 − 2x + 2y − 47 = 0

x2 + y2 − 2x + 2y + 47 = 0

x2 + y2 − 2x − 2y − 47 = 0

https://dl.doubtnut.com/l/_jzjmLD9PZF2v
https://dl.doubtnut.com/l/_RgzoofWUu7WV


Answer: A

Watch Video Solution

13. The equation of the circle whose diameter lies on

 which passes through  is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

2x + 3y = 3 and 16x − y = 4 (4, 6)

5(x2 + y2) − 3x − 8y = 200

x2 + y2 − 4x − 8y = 200

5(x2 + y2) − 4x = 200

x2 + y2 = 40

https://dl.doubtnut.com/l/_RgzoofWUu7WV
https://dl.doubtnut.com/l/_YpdUp5Zp6rUc


14. The equation of the circle which passes through the points

 and the centre lies on the straight line 

 is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(2, 3) and (4, 5)

y − 4x + 3 = 0,

x2 + y2 + 4x − 10y + 25 = 0

x2 + y2 − 4x − 10y + 25 = 0

x2 + y2 − 4x − 10y + 16 = 0

x2 + y2 − 14y + 8 = 0

15. Find the equation of the circle whose centre is at


and which cuts off a chord of length 
 on the line

(3, − 1)

6units

2x − 5y + 18 = 0.

https://dl.doubtnut.com/l/_Dg3lbL6aQ8Mz
https://dl.doubtnut.com/l/_vrNlU0gIuA2K


A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

(x − 3)2 + (y + 1)2 = 38

(x + 3)2 + (y + 1)2 = 38

(x − 3)2 + (y + 1)2 = 38

16.  is the centre of the circle passing through the vertices

of an equilateral triangle. If the length of the median of the

triangle is  units then equation of the circle is

A. 

B. 

C. 

(0, 0)

9

x2y2 = 18

x2 + y2 = 81

x2 + y2 = 36

https://dl.doubtnut.com/l/_vrNlU0gIuA2K
https://dl.doubtnut.com/l/_B3TSTIXUqQqm


D. 

Answer: C

Watch Video Solution

x2 + y2 = 9

17. ABCD is a square, the length of whose side is a. Taking AB and

AD as the coordinate axes, the equation of the circel passing

through the ceteices of the square is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 + ax + ay = 0

x2 + y2 − ax − ay = 0

x2 + y2 + 1ax + 2ay = 0

x2 + y2 − 2ax − 2ay = 0

https://dl.doubtnut.com/l/_B3TSTIXUqQqm
https://dl.doubtnut.com/l/_gn5BryfeSTKj


Watch Video Solution

18. The circle passing through the point (-1,0) and touching the y-

axis at (0,2) also passes through the point:

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − , 0)
3

2

( − , 2)
5

2

( − , )
3

2

5

2

( − 4, 0)

19. The length of the diameter of the circle which touches the x -

axis at the point (1,0) and passes through the point (2,3) is _

https://dl.doubtnut.com/l/_gn5BryfeSTKj
https://dl.doubtnut.com/l/_oK1mG0ykvVlb
https://dl.doubtnut.com/l/_E14ZdF9Dn3Je


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

10

3

3

5

6

5

5

3

20. The equatio of a circel touching the coordinate axes and the

line  is

A. 

B. 

C. 

D. 

3x − 4y = 12

x2 + y2 + 6x + 6y + 9 = 0

x2 + y2 + 6x + 6y − 9 = 0

x2 + y2 − 6x + 6y − 9 = 0

x2 + y2 − 6x − 6y − 9 = 0

https://dl.doubtnut.com/l/_E14ZdF9Dn3Je
https://dl.doubtnut.com/l/_vor5mcFxY8vR


Answer: C

Watch Video Solution

21. The equation (x-x_1)(x-x_2)+(y-y_1)(y-y_2=0` Represents a circle

whose centre is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( , )
x1 − x2

2

y1 − y2

2

( , )
x1 + x2

2

y1 + y2

2

(x1, y2)

(x2, y2)

https://dl.doubtnut.com/l/_vor5mcFxY8vR
https://dl.doubtnut.com/l/_PktbLlTdENVI


22. The equation of a circle whose diameter is the line joining the

points  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

( − 4, 3) and (12, − 1)

x2 + y2 + 8x + 2y + 51 = 0

x2 + y2 + 8x − 2y − 51 = 0

x2 + y2 + 8x + 2y − 51 = 0

x2 + y2 − 8x − 2y − 51 = 0

23. The equation of the circle passing through the point

 and having the smallest radius is

A. 

(1, 0) and (0, 1)

x2 + y2 − 2x − 2y + 1 = 0

https://dl.doubtnut.com/l/_eSx0L6wU92aQ
https://dl.doubtnut.com/l/_i8J3BQRvFEE0


B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − x − y = 0

x2 + y2 + 2x + 2y − 7 = 0

x2 + y2 + x + y − 2 = 0

24. The sides of a rectangle are given by  and .

The equation of the circle passing through the vertices of the

rectangle is

A. 

B. 

C. 

D. 

x = ± a y = ± b

x2 + y2 = a2

x2 + y2 = a2 + b2

x2 + y2 = a2 − b2

(x − a)2 + (y − b)2 = a2 + b2

https://dl.doubtnut.com/l/_i8J3BQRvFEE0
https://dl.doubtnut.com/l/_5MKcwr5gKUYG


Answer: B

Watch Video Solution

25. For the equation 

 where , to

represent a circle, the condition will be

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

ax2 + by2 + 2hxy + 2gx + 2fy + c = 0 a ≠ 0

a = b = 0 and c = 0

f = g and h = 0

a = b ≠ 0 and h = 0

f = g and c = 0

https://dl.doubtnut.com/l/_5MKcwr5gKUYG
https://dl.doubtnut.com/l/_2tOoipr4oGpx
https://dl.doubtnut.com/l/_azt2Yz5qZ8L3


26.  represents a circle

through the origin, if

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

ax2 + 2y2 + 2bxy + 2x − y + x = 0

a = 0, b = 0, c = 2

a = 1, b = 0, c = 0

a = 2, b = 2, c = 0

a = 2, b = 0, c = 0

27. The equation  represents

A. circle

B. pair of coincident straight lines

x2 + y2 + 4x + 6y + 13 = 0

https://dl.doubtnut.com/l/_azt2Yz5qZ8L3
https://dl.doubtnut.com/l/_4n4Ls6ot3ts5


C. pair of concurrent straight lines

D. point circle

Answer: D

Watch Video Solution

28. Equation of circle with centre (-a,-b) and radius  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√a2 − b2

x2 + y2 + 2ax + 2by + 2b2 = 0

x2 + y2 − 2ax − 2by − 2v2 = 0

x2 + y2 − 2ax − 2by + 2b2 = 0

x2 + y2 − 2ax + 2by + 2a2 = 0

https://dl.doubtnut.com/l/_4n4Ls6ot3ts5
https://dl.doubtnut.com/l/_LOIIIVZlpE7A


29. If the equation represents a

ciecle, then K =

A. 

B. 1

C. 

D. 12

Answer: A

Watch Video Solution

+ = 1
K(x + 1)

2

3

(y + 2)
2

4

3

4

4

3

30.  represents the

equation of a circle, find k and radius of the circle ?

x2 + y2 + (2K − 1)xy − 2x + 4y + 3 = 0

https://dl.doubtnut.com/l/_LOIIIVZlpE7A
https://dl.doubtnut.com/l/_9ed8m9WM7zvC
https://dl.doubtnut.com/l/_pnGpWnliYwFo


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−2, √2

, √2
1

2

−2, √3

2, √3

31.  is the equation of the

circle and 2 is the radius of the circle, then find the values of h

and k ?

A. 

B. 

C. 

x2 + hxy + y2 − 6x − 2y + k = 0

h = 0, k = − 6

h = 0, k = 6

h = − 3, k = 6

https://dl.doubtnut.com/l/_pnGpWnliYwFo
https://dl.doubtnut.com/l/_MfPhA9mhLShj


D. 

Answer: B

Watch Video Solution

h = 3, k = 6

32. A circle  passing through

 is concentric to the circle 

 then the value of c will be

A. 

B. 4

C. 0

D. 1

Answer: A

Watch Video Solution

x2 + y2 + 2gx + 2fy + c = 0

(4, − 2)

x2 + y2 − 2x + 4y + 20 = 0,

−4

https://dl.doubtnut.com/l/_MfPhA9mhLShj
https://dl.doubtnut.com/l/_o6STewPg3zC7


Watch Video Solution

33. Find the centre and radius of the circles

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

2x2 + 2y2 − x = 0

( , )
x1 + x2

2

y1 + y2

2

( − , 0) and
1

2

1

2

( , 0) and
1

2

1

2

(0, − ) and
1

4

1

4

34. If one end of a diameter of the circle

 is (3, 4), then find the coordinates

of the other end of the diameter.

x2 + y2 − 4x − 6y + 11 = 0

https://dl.doubtnut.com/l/_o6STewPg3zC7
https://dl.doubtnut.com/l/_dWQmfLtlX3xd
https://dl.doubtnut.com/l/_5xXPXVO4Hp4S


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(0, 0)

(1, 1)

(1, 2)

(2, 1)

35. The point diametrically opposite to the point P(1, 0) on the

circle  is

A. 

B. 

C. 

D. 

x2 + y2 + 2x + 4y − 3 = 0

( − 3, 4)

( − 3, − 4)

(3, 4)

(3, − 4)

https://dl.doubtnut.com/l/_5xXPXVO4Hp4S
https://dl.doubtnut.com/l/_dJkD0ZGGuHgW


Answer: B

Watch Video Solution

36. If the line 
 is a diameter of the circle 


, then find the value of 

A. 3

B. 

C. 

D. 5

Answer: D

Watch Video Solution

x + 2by + 7 = 0

x2 + y2 − 6x + 2y = 0 b

−5

−1

https://dl.doubtnut.com/l/_dJkD0ZGGuHgW
https://dl.doubtnut.com/l/_aSBSyIZjsPvi


37. If one of the diameters of the curve

 is a chord of a circle with centre 

 then the radius of this circel is

A. 3

B. 2

C. 

D. 1

Answer: A

Watch Video Solution

2 + y2 − 4x − 6y + 9 = 0

(1, 1)

√2

38. If one of the diameters of the circle, given by the equation

 is a chord of a circle S, whose

centre is  the radius of S is

x2 + y2 + 4x + 6y − 12 = 0,

(1, − 3),

https://dl.doubtnut.com/l/_XcVrKdjIdD8A
https://dl.doubtnut.com/l/_GQflYLyRvEyz


A.  units

B.  units

C.  units

D.  units

Answer: A

Watch Video Solution

√41

3√5

5√2

2√5

39. Find the equation of a circle of radius 
which lies within the

circle 
 and which touches the

given circle at the point 

A. 

B. 

C. 

5

x2 + y2 + 14x + 10y − 26 = 0

( − 1, 3).

x2 + y2 + 8x + 2y − 8 = 0

x2 + y2 + 10x + 2y + 1 = 0

x2 + y2 + 8x + 4y − 4 = 0

https://dl.doubtnut.com/l/_GQflYLyRvEyz
https://dl.doubtnut.com/l/_KdP6YBvWz8Ze


D. 

Answer: A

Watch Video Solution

x2 + y2 + 8x + 6y = 0

40. The equation of the circle which passes through the points of

intersection of the circles  and 

 and has its centre at (3/2, 3/2), is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 6x = 0

x2 + y2 − 6y = 0

x2 + y2 + 3x + 3y + 9 = 0

x2 + y2 + 3x + 3y = 0

x2 + y2 − 3x − 3y = 0

x2 + y2 − 3x − 3y + 9 = 0

https://dl.doubtnut.com/l/_KdP6YBvWz8Ze
https://dl.doubtnut.com/l/_qlsFgy4D3jvg


Watch Video Solution

41. The intercept on the line  by the circel 

 is AB, then the question of the circel on AB as

a diameter is-

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y = x

x2 + y2 − 2x = 0

x2 + y2 − x − y = 0

x2 + y2 − 2x − y = 0

x2 + y2 − x + y = 0

x2 + y2 + x − y = 0

https://dl.doubtnut.com/l/_qlsFgy4D3jvg
https://dl.doubtnut.com/l/_fCAVCEyp7aOn


42. Let the line segment joining the centres of the circles

 and  intersect

the circles at P and Q respectively. Then the equation of the circle

with PQ as its diameter is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 2x + y2 = 0 x2 + y2 + 4x + 8y + 16 = 0

5x2 + 5y2 − 2x − 16y + 8 = 0

5x2 + 5y2 − 8x − 24y + 27 = 0

5x2 + 5y2 + 8x + 24y + 27 = 0

5x2 + 5y2 + 2x + 16y + 8 = 0

43. If the lengths of the tangents drawn from P to the circles

x2 + y2 − 2x + 4y − 20 = 0 and x2 + y2 − 2x − 8y + 1 = 0

https://dl.doubtnut.com/l/_XsZPzIqwQIE4
https://dl.doubtnut.com/l/_ILcgAMP3e4OT


are in the ratio , then the locus of p is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

2: 1

x2 + y2 + 2x + 12y + 8 = 0

x2 + y2 − 2x + 12y + 8 = 0

x2 + y2 + 2x − 12y + 8 = 0

x2 + y2 − 2x − 12y + 8 = 0

44. IF the tangent at  to the curve  touches the

circle  then the value of c is

A. 185

B. 85

C. 95

(1, 7) x2 = y − 6

x2 + y2 + 16x + 12y + c = 0,

https://dl.doubtnut.com/l/_ILcgAMP3e4OT
https://dl.doubtnut.com/l/_bZnf5h3UVa8I


D. 195

Answer: C

Watch Video Solution

45. Find the centre of the circle that passes through the point

 and cutting the circles 

orthogonally is

A. 

B. 

C. 

D. 

Answer: D

(1, 0)

x2 + y2 − 2x + 4y + 1 = 0 and x2 + y2 + 6x − 2y + 1 = 0

( − , )
2

3

2

3

( , )
1

2

1

2

(0, 1)

(0, 0)

https://dl.doubtnut.com/l/_bZnf5h3UVa8I
https://dl.doubtnut.com/l/_MFrF8AvdiqlQ


Watch Video Solution

46. The number of common tangents to the circles

 and 

, is

A. 1

B. 2

C. 3

D. 4

Answer: C

Watch Video Solution

x2 + y2 − 4x − 6y − 12 = 0 x2 + y2 + 6x + 18y + 26 = 0

https://dl.doubtnut.com/l/_MFrF8AvdiqlQ
https://dl.doubtnut.com/l/_XIe41rNTAaqv


47. The equation of the parabola with the focus (3,0) and

directrix x+3=0 is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 3x

y2 = 2x

y2 = 12x

y2 = 6x

48. The equation of the parabola with focus  and

directrix  is

A. 

(1, − 1)

x + y + 3 = 0

x2 + y2 − 10x − 2y − 2xy − 5 = 0

https://dl.doubtnut.com/l/_maez9pGgOE9C
https://dl.doubtnut.com/l/_48aWADwIsj9f


B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 + 10x − 2y − 2xy − 5 = 0

x2 + y2 + 10x + 2y − 2xy − 5 = 0

x2 + y2 + 10x + 2y + 2xy − 5 = 0

49. A point on the parabola whose focus is  ans whose

vertex is  is

A. 

B. 

C. 

D. 

S(1, − 1)

A(1, 1)

(3, )
1

2

(1, 2)

(2, )
1

2

(2, 2)

https://dl.doubtnut.com/l/_48aWADwIsj9f
https://dl.doubtnut.com/l/_LdubqTPzLGVy


Answer: A

Watch Video Solution

50. The focus of the parabola  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 = − 16y

(4, 0)

(0, 4)

( − 4, 0)

(0, − 4)

51. Focus and directrix of the parabola  arex2 = − 8ay

https://dl.doubtnut.com/l/_LdubqTPzLGVy
https://dl.doubtnut.com/l/_ewzxjyXYBftQ
https://dl.doubtnut.com/l/_2MkjbfL7Ill7


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(0, − 1a) and y = 2a

(0, 2a) and y = − 2a

(2a, 0) and x = − 2a

( − 2a, 0) and x = 2a

52. The focus of the parabola  is

A. 

B. 

C. 

D. 

y2 − 4y − x + 3 = 0

( , 2)
3

4

( , − 2)
3

4

(2, )
−3

4

( , 2)
−3

4

https://dl.doubtnut.com/l/_2MkjbfL7Ill7
https://dl.doubtnut.com/l/_n48sqo6zwd6a


Answer: D

Watch Video Solution

53. The focus of the parabola  is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(y + 1)2 = − 8(x + 2)

( − 4, − 1)

( − 1, − 4)

(1, 4)

(4, 1)

https://dl.doubtnut.com/l/_n48sqo6zwd6a
https://dl.doubtnut.com/l/_Yjd4MoML9Eid


54. Consider the equation of a parabola  where 

 Which of the following is false ?

A. Vertex of the parabola is at the prigin.

B. Focus of the parabola is at 

C. Directrix of the parabola is 

D. Tangent at the vertex is 

Answer: B

Watch Video Solution

y2 + 4ax = 0,

a > 0.

(a, 0)

x = a

x = 0.

55. The focal chord of the parabola perpendicular to its axis is

called as

A. tangent.

https://dl.doubtnut.com/l/_h1c1FNsrll8T
https://dl.doubtnut.com/l/_o0ylpFtLqfpu


B. secant

C. latus reactum.

D. normal.

Answer: C

Watch Video Solution

56. If 
 is at an end of a focal chord of the parabola 


then find the other end of the chord.

A. 

B. 

C. 

D. 

(2, − 8)

y2 = 32x,

(2, − 8)

(2, 8)

(32, 32)

(32, − 32)

https://dl.doubtnut.com/l/_o0ylpFtLqfpu
https://dl.doubtnut.com/l/_p1rFUD1T2tQw


Answer: B

Watch Video Solution

57. If  are the end points of a focal chord

of the parabola  then 

A. 25

B. 5

C. 0

D. 

Answer: C

Watch Video Solution

(xa, y1) and (x2, (y2)

y2 = 5x, 4x1x2 + y1y2 =

5

4

https://dl.doubtnut.com/l/_p1rFUD1T2tQw
https://dl.doubtnut.com/l/_AnNOUIQy7EBP


58. Find the area of the triangle formed by the lines joining the

vertex of the parabola  to the ends of its latus rectum

A. 20 sq. units

B. 18 sq. units

C. 17 sq. units

D. 19 sq. units

Answer: B

Watch Video Solution

x2 = 12y

59. The focal distance of a point P on the parabola  if

the ordinate of P is 6, is

A. 13

y2 = 12x

https://dl.doubtnut.com/l/_PWKjoMCDy6CI
https://dl.doubtnut.com/l/_Nj2MTT0IZKrN


B. 6

C. 10

D. 12

Answer: B

Watch Video Solution

60. Find the point on the parabola  at which ordinate is

3 times its abscissa.

A. 

B. 

C. 

D. 

y2 = 18x

(6, 2)

( − 2, − 6)

(3, 18)

(2, 6)

https://dl.doubtnut.com/l/_Nj2MTT0IZKrN
https://dl.doubtnut.com/l/_LFIJNdHMKhqU


Answer: D

Watch Video Solution

61. The equation of parabola whose vertex and focus are

 respectively, is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(0, 4) and (0, 2)

y2 + 8x = 32

y2 − 8x = 32

x2 + 8y = 32

x2 − 8y = 32

https://dl.doubtnut.com/l/_LFIJNdHMKhqU
https://dl.doubtnut.com/l/_BzQBAr7aKCRr


62. The equation of the parabola with its vertex at (1, 1) and focus

at (3, 1) is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(x − 1)2 = 8(y − 1)

(y − 1)2 = 8(x − 3)

(y − 1)2 = 8(x − 1)

(x − 3)2 = 8(y − 1)

63. The equation of the parabola with  and focus and 

 as directrix, is

A. 

( − 3, 0)

x + 5 = 0

x2 = 4(y + 4)

https://dl.doubtnut.com/l/_ah1ro17tcJcQ
https://dl.doubtnut.com/l/_HGlaFVXYQlCz


B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 = 4(y − 4)

y2 = 4(x + 4)

y2 = 4(x − 4)

64. Find the equation of the parabola whose focus is (5,3) and

directrix is the line 3x-4y+1=0.

A. 

B. 

C. 

D. 

(4x + 3y)2 − 256x − 142y + 849 = 0

(4x − 3y)2 − 256x − 142y + 849 = 0

(3x + 4y)2 − 142x − 256y + 849 = 0

(3x − 4y)2 − 256 − 142y + 849 = 0

https://dl.doubtnut.com/l/_HGlaFVXYQlCz
https://dl.doubtnut.com/l/_xWegYY4qu60p


Answer: A

Watch Video Solution

65. The equation of parabola whose vertex and focus lie on the

axis of x at distances a and  from the origin respectively, is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

a1

y2 = 4(a' − a)(x − a)

y2 = 4(a' − ax+a

y2 = 4(a' + a)(x − a)

y2 = (a' + a)(x + a)

https://dl.doubtnut.com/l/_xWegYY4qu60p
https://dl.doubtnut.com/l/_Y6zG3pwdbSqz


66. If P is point on the parabola  is the point 

 then the locus of the mid point of the line segment AP is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

y2 = 8x and A

(1, 0),

y2 = 4(x − )
1

2

y2 − 2(2x + 1)

y2 = x −
1

2

y2 = 2x + 1

67. Eccentricity of the parabola  is

A. 

B. 

x2 − 4x − 4y + 4 = 0

e = 0

e = 1

https://dl.doubtnut.com/l/_C2jDCMcx1mMz
https://dl.doubtnut.com/l/_hA6CAuOabQKv


C. 

D. 

Answer: B

Watch Video Solution

e > 4

e = 4

68. A
parabola has the origin as its focus and the line 
as

the directrix. Then the vertex of the
parabola is at
(1)
(0, 2)
 (2) (1,

0)
(3) (0, 1) (4) (2, 0)

A. 

B. 

C. 

D. 

x = 2

(1, 0)

(0, 1)

(2, 0)

(0, 2)

https://dl.doubtnut.com/l/_hA6CAuOabQKv
https://dl.doubtnut.com/l/_FAZ5kHpMgYli


Answer: A

Watch Video Solution

69. The vertex of the parabola  is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

y2 − 4y − x + 3 = 0

( − 1, 3)

( − 1, 2)

(2, − 1)

(3, − 1)

70. Vertex of the parabola  isx2 + 4x + 2y − 7 = 0

https://dl.doubtnut.com/l/_FAZ5kHpMgYli
https://dl.doubtnut.com/l/_wFpCufOQj8si
https://dl.doubtnut.com/l/_CYAd9sKLupO7


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( − 2, )
11

2

( − 1, 2)

( − 2, 11)

(2, 11)

71. The focous of the parabola  is

A. 

B. 

C. 

D. 

y = 2x2 + x

(0, 0)

( , )
1

2

1

4

( − , 0)
1

4

( − , )
1

4

1

8

https://dl.doubtnut.com/l/_CYAd9sKLupO7
https://dl.doubtnut.com/l/_jefdqu8a4NSm


Answer: C

View Text Solution

72. The focus of the conic  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 − 6x + 4y + 1 = 0

(2, 3)

(3, 2)

(3, 1)

(1, 4)

https://dl.doubtnut.com/l/_jefdqu8a4NSm
https://dl.doubtnut.com/l/_CweQuG75vlH2


73. A line cuts the X-axis at A  and the Y-axis at 

A variable line PQ is drawn pependicular to AB cutting the X-axis

at P and the Y-axis at A. If AQ and BP meet at R, then the locus of

R is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

(5, 0) B(0, − 3).

x2 + y2 − 5x + 3y = 0

x2 + y2 + 5x + 3y = 0

x2 + y2 + 5x − 3y = 0

x2 + y2 − 5x − 3y = 0

74. The distance between the vertex and the focus of the

parabola  isx2 − 2x + 3y − 2 = 0

https://dl.doubtnut.com/l/_GJJ0JKtSrvjA
https://dl.doubtnut.com/l/_IN64A6LoJWdf


A. 

B. 

C. 

D. 

Answer: B

View Text Solution

4
5

3

4

1

2

5

6

75. Equation of the directrix of the parabola  is

A. 

B. 

C. 

D. 

y2 + 4x + 2 = 0

y = 3

3y = 2

2y = 3

3y + 2 = 0

https://dl.doubtnut.com/l/_IN64A6LoJWdf
https://dl.doubtnut.com/l/_e1LdJzmo3qOK


Answer: C

Watch Video Solution

76. The equation of the directrix of the parabola

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

x2 + 8y − 2x = 7

y = 3

y = − 3

y = 2

y = 0

https://dl.doubtnut.com/l/_e1LdJzmo3qOK
https://dl.doubtnut.com/l/_iNRmyMw1c5YP


77. For the parabola  


I) the vertex is  


II) the directrix is  


Which of the following is correct ?

A. Both I and II are correct

B. I is true, II is false

C. Both I and II are false

D. I is false, II is false

Answer: B

Watch Video Solution

y2 + 6y − 2x = − 5

( − 2, − 3)

y + 3 = 0

78. The two parabolas  and  meet in two distinct

points. One of these is origin and the other point is

x2 = 4y y2 = 4x

https://dl.doubtnut.com/l/_xYLNk4mpAM6u
https://dl.doubtnut.com/l/_moXVWRApYajN


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(2, 2)

(4, − 4)

(4, 4)

( − 2, 2)

79. Let O
 be the vertex and Q be any point on the parabola,


. It
the point P divides the line segment OQ internally in

the ratio 1 : 3, then
 the locus of P is : (1) 
 (2)
 
 (3)


(4)


A. 

B. 

x2 = 8y

x2 = y y2 = x

y2 = 2x x2 = 2y

x2 = y

y2 = x

https://dl.doubtnut.com/l/_moXVWRApYajN
https://dl.doubtnut.com/l/_7cAANabG1yYg


C. 

D. 

Answer: D

Watch Video Solution

y2 = 2x

x3 = 2y

80. The cartesian co - ordinates of the point on the parabola

 , whose parameter is  are

A. 

B. 

C. 

D. 

Answer: C

h id l i

y2 = − 16x ,
1

2

( − 2, 4)

(4, 1)

( − 1, − 4)

( − 1, 4)

https://dl.doubtnut.com/l/_7cAANabG1yYg
https://dl.doubtnut.com/l/_UYOY945rtixh


Watch Video Solution

81. Tangent and normal are drawn at P(16,16) on the parabola

 which intersect the axis of the parabola at A and B

respectively. If C is the centre of the circle through the points P,A

and B and  then the value of  is

A. 

B. 3

C. 

D. 

Answer: A

Watch Video Solution

y2 = 16x

∠CPB = θ tan θ

2

4
3

1

2

https://dl.doubtnut.com/l/_UYOY945rtixh
https://dl.doubtnut.com/l/_f8SUAPlmJ4Ij


82. The straight lines  intersect the parabola  in

points P and Q, then length of PQ is

A. 4

B. 

C. 8

D. 16

Answer: D

Watch Video Solution

y = ± x y2 = 8x

4√2

83. If 
and the line 
passes through the

points of intersection of the parabolas 
and 

then
 



none of these

a ≠ 0 2bx + 3cy + 4d = 0

y2 = 4ax x2 = 4ay,

d2 + (2b + 3c)2 = 0 d2 + (3b + 2c)2 = 0

d2 + (2b − 3c)2 = 0

https://dl.doubtnut.com/l/_TlbexvMGQ4aW
https://dl.doubtnut.com/l/_Run3Exe8wgg6


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

d2 + (3b − 2c)2 = 0

d2 + (3b + 2c)2 = 0

d2 + (2b − 3c)2 = 0

d2 + (2b + 3c)2 = 0

84. The eccentricity of the ellipes  is

A. 

B. 

C. 

D. 

+ = 1
x2

36

y2

16

2√5

6

2√5

4

2√13

6

2√13

4

https://dl.doubtnut.com/l/_Run3Exe8wgg6
https://dl.doubtnut.com/l/_hlan8UxfhGWu


Answer: A

Watch Video Solution

85. Eccentricity of the ellipse

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

4x3 + y6(2) − 8x + 4x + 4y − 8 = 0

√3

2

√3

4

√3

√2

√3

8

https://dl.doubtnut.com/l/_hlan8UxfhGWu
https://dl.doubtnut.com/l/_CaovD7ixWg1o


86. The eccentricity of the conic  is

A. 0

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + y2 − 2x + 3y + 2 = 0

1

√2

1

2

√2

87. The lengths of major and minor axis of an ellipse are 10 and 8

respectively and its major axis is along the Y-axis. The equation of

the ellipse referred to its centre as origin is

A. + = 1
x2

25

y2

16

https://dl.doubtnut.com/l/_CXgHLpiYvBr7
https://dl.doubtnut.com/l/_yumOV6jWpT4v


B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = 1
x2

16

y2

25

+ = 1
x2

100

y2

64

+ = 1
x2

64

y2

100

88. If the centre, one of the foci and semi-major axis of an ellipse

are (0,0), (0,3) and 5, then its equation is

A. 

B. 

C. 

D. 

+ = 1
x2

16

y2

25

+ = 1
x2

25

y2

16

+ = 1
x2

9

y2

25

+ = 1
x2

25

y2

9

https://dl.doubtnut.com/l/_yumOV6jWpT4v
https://dl.doubtnut.com/l/_M8eF1t9As0e8


Answer: A

Watch Video Solution

89. The equation of the ellipse with foci  and eccentricity

is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ± 2, 0)

=
1

2

3x2 + 4y2 = 48

4x2 + 3y2 = 48

3x2 + 4y2 = 0

4x2 + 3y2 = 0

https://dl.doubtnut.com/l/_M8eF1t9As0e8
https://dl.doubtnut.com/l/_kIAw5CHGuUNb


90. If the foci of an ellipse are  its exccentricity

is  then the equation of the ellipse is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( ± √5, 0) and

,
√5

3

9x2 + 4y2 = 36

4x2 + 9y2 = 36

36x2 + 9y2 = 4

4x2 + 36y2 = 4

91. Equation of the ellipse whose axes are the axes of coordinates

and
 which passes through the point 
 and has

eccentricity 
 is:
 (1) 
 (2) 

( − 3, 1)

√
2

5
3x2 + 5y2 − 32 = 0

https://dl.doubtnut.com/l/_pMIRYQtkdSBs
https://dl.doubtnut.com/l/_uGOtAsJU9XVu



 (3) 
 (4) 

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5x2 + 3y2 − 48 = 0 3x2 + 5y2 − 15 = 0

5x2 + 3y2 − 32 = 0

5x2 + 3y2 = − 48 = 0

3x2 + 5y2 − 15 = 0

5x2 + 3y2 − 32 = 0

3x2 + 5y2 − 32 =

92. Find the equation of an ellipse hose axes lie along the

coordinate
 axes, which passes through the point (-3,1) and has

eccentricity equal to 

A. 

√2/5.

3x2 + 5y2 − 15 = 0

https://dl.doubtnut.com/l/_uGOtAsJU9XVu
https://dl.doubtnut.com/l/_as9qt0q3n5X4


B. 

C. 

D. 

Answer: D

Watch Video Solution

5x2 + 3y2 − 32 = 0

3x2 + 5y2 − 32 = 0

5x2 + 3y2 − 48 = 0

93. The eccentricity of an ellipse with its centre at the origin is 

. If one of the directrices is x = 4 , then the equation of ellipse is

A. 

B. 

C. 

D. 

1

2

4x2 + 3y2 = 1

3x2 + 4y2 = 12

4x2 + 3y2 = 12

3x2 + 4y2 = 1

https://dl.doubtnut.com/l/_as9qt0q3n5X4
https://dl.doubtnut.com/l/_JHWD3cYGSpgS


Answer: B

Watch Video Solution

94. If the equation of ellipse is  then 

A. a

B. 2a

C. 2b

D. b

Answer: B

Watch Video Solution

+ = 1
x2

a2

y2

b2

SP + S'P =

https://dl.doubtnut.com/l/_JHWD3cYGSpgS
https://dl.doubtnut.com/l/_tN0ao6rhJ6C6


95. Find the differential equation of an ellipse with major and

minor axes 2a and 2b respectively.

A. 2a

B. 

C. 

D. 

Answer: A

Watch Video Solution

2a

b

2b
a

b2

a

96. If 
 and 


, then 
equal
8 (b)
6 (c) 10
(d) 12

A. 8

P = (x, y), F1 = (3, 0), F2 = ( − 3, 0),

16x2 + 25y2 = 400 PF1 + PF2

https://dl.doubtnut.com/l/_6h8ch4WeiQyu
https://dl.doubtnut.com/l/_xrvfF09a5W4m


B. 6

C. 10

D. 12

Answer: C

Watch Video Solution

97. The foci of  are

A. 

B. 

C. 

D. 

Answer: A

16x2 + 25y2 = 400

( ± 3, 0)

(0, ± 3)

(3, − 3)

( − 3, 3)

https://dl.doubtnut.com/l/_xrvfF09a5W4m
https://dl.doubtnut.com/l/_6cMG8GpYJC9O


Watch Video Solution

98. If the angle betweent he lines joining the end points of minor

axis of an ellipse with its foci is  then the eccentricity of the

ellipse is

A. 

B. 

C. 

D. 

Answer: B

View Text Solution

,
π

2

1

2

1

√2

√3

2

1

2√2

https://dl.doubtnut.com/l/_6cMG8GpYJC9O
https://dl.doubtnut.com/l/_r30Fu0H51RDb


99. B is extermity of the minor axis of an elipse whose foci are S

and S'. If  is a right angle, then the eccfentricity of the

ellipse is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

∠SBS'

1

2

1

√2

2

3

1

3

100. Let S and s' be the foci of an ellipse and B be one end of its

minor axis . If SBS' is a isosceles right angled triangle then the

eccentricity of the ellipse is

https://dl.doubtnut.com/l/_6g6Uh4FUENP6
https://dl.doubtnut.com/l/_mcQIPVfKl3L3


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

1

√2

1

2

√3

2

1

3

101. The distanve between the foci of an ellipse is 16 and

eccentricity is  Length of the major axis of the cellipse is

A. 8

B. 64

C. 16

D. 32

.
1

2

https://dl.doubtnut.com/l/_mcQIPVfKl3L3
https://dl.doubtnut.com/l/_Urg0SYmPBg7B


Answer: D

Watch Video Solution

102. If the eccentricities of the two ellipse

 and equal , then the value 

 , is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

+ = 1 and + = 1
x2

169

y2

25

x2

a2

y2

b2

a

b

5

13

6

13

13

5

15

6

https://dl.doubtnut.com/l/_Urg0SYmPBg7B
https://dl.doubtnut.com/l/_J8pdKVaFirdg
https://dl.doubtnut.com/l/_pg29RcNnzxR3


103. The length of the latus rectum of the ellipse 

is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

5x2 + 9y2 = 45

√5

4

√5
2

5

3

10

3

104. The length of the latus rectum of the ellipse

 is

A. 

9x2 + 4y2 = 1,

3
2

https://dl.doubtnut.com/l/_pg29RcNnzxR3
https://dl.doubtnut.com/l/_n4kD90KV2FBU


B. 

C. 

D. 

Answer: C

View Text Solution

8

3

4
9

8

9

105. The length of the latus rectum of an ellipse is  of the

major axis. Its eccentricity is

A. 

B. 

C. 

D. 

1

3

2

3

√
2

3

5 × 4 × 3

73

( )
43

4

https://dl.doubtnut.com/l/_n4kD90KV2FBU
https://dl.doubtnut.com/l/_YwvPw7wqJXVq


Answer: B

Watch Video Solution

106. If the latusrectum of an ellipse is equal to one half of its

minor axis , then eccentricity is equal to

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3

2

√3

2

2

3

√2

3

https://dl.doubtnut.com/l/_YwvPw7wqJXVq
https://dl.doubtnut.com/l/_7It51zoYnlYj


107. The distance between the focii of the ellipse

 is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x = 3 cos θ, y = 4 sin θ

2√7

7√2

√7

3√7

108. The equation of an ellipse whose focus is  directrix

is  and eccentricity is  is given by

A. 

( − 1, 1),

x − y + 3 = 0 ,
1

2

7x2 + 2xy + 7y2 + 10x − 10y + 7 = 0

https://dl.doubtnut.com/l/_bACDhj5Im8KB
https://dl.doubtnut.com/l/_7yTVqJQnWPbu


B. 

C. 

D. 

Answer: A

View Text Solution

7x2 − 2xy + 7y2 − 10x + 19y + 7 = 0

7x2 − 2xy + 7y2 − 10x − 10y − 7 = 0

7x2 − 2xy + 7y2 + 10x10y − 7 = 0

109. The centre of the ellipse 

 is

A. 

B. 

C. 

D. 

+ = 1
(x + y − 3)

2

9

(x − y + 1)
2

16

( − 1, 2)

(1, − 2)

( − 1, − 2)

(1, 2)

https://dl.doubtnut.com/l/_7yTVqJQnWPbu
https://dl.doubtnut.com/l/_rU0Gbe6QBx8k


Answer: D

View Text Solution

110. Thet eccentricity of the ellipse 

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

+ = 1
(x − 1)

2

9

(y + 1)
2

25

4

5

3

5

5

4

5

3

https://dl.doubtnut.com/l/_rU0Gbe6QBx8k
https://dl.doubtnut.com/l/_iwfdF0hqdokd


111. The ecfentricity of the ellipse 

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

+ (y + )
2(x − 1)

2

2

3

4

1

16

1

√2

1

√2

1

2

1

4

112. The centre of ellipse 

 is

A. 

4x2 + y2 − 8x + 4y − 8 = 0

(0, 2)

https://dl.doubtnut.com/l/_KV6bo3z4p9Xn
https://dl.doubtnut.com/l/_SzpZyYq0t0Xq


B. 

C. 

D. 

Answer: D

View Text Solution

(2, − 1)

(2, 1)

(2, − 2)

113. For the ellipse  the

eccentricity e =

A. 

B. 

C. 

D. 

25x2 + 9y2 − 150x − 90y + 225 = 0,

2

5

3

5

4
5

1

5

https://dl.doubtnut.com/l/_SzpZyYq0t0Xq
https://dl.doubtnut.com/l/_13vDqpKXRENl


Answer: C

Watch Video Solution

114. The eccentricity of the curve represented by the equation

 is

A. 0

B. 

C. 

D. 

Answer: C

View Text Solution

x2 + 2y2 − 2x + 3y + 2 = 0

1

2

1

√2

√2

https://dl.doubtnut.com/l/_13vDqpKXRENl
https://dl.doubtnut.com/l/_tmXKbmRyvfov


115. The foci of the ellipse 

 are

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

25x2 + 4y2 + 100x − 4y + 100 = 0

( , − 2)
5π√21

10

( − 2, )
5 ± √21

10

( , − 2)
2 ± √21

10

( − 2, )
2 ± √21

10

116. The equation  represents

A. an ellipse

B. a parabola

5x2 + y2 + y = 8

https://dl.doubtnut.com/l/_oZ4hgDDNaBn3
https://dl.doubtnut.com/l/_HFNVKsnnTUm9


C. a hyperbola

D. a circle

Answer: A

Watch Video Solution

117. A man running around a race course notes that the sum of

the distances
 of two flagposts from him a always 10m and the

distance between the flag posts is 8m. Then the area of the path

he encloses
in square meters is
15 
(b) 
(c) 
(d) 

A. 

B. 

C. 

D. 

π 20π 27π 30π

15π

12π

18π

8π

https://dl.doubtnut.com/l/_HFNVKsnnTUm9
https://dl.doubtnut.com/l/_tXdzfFV6ei9X


Answer: A

Watch Video Solution

118. Let P be a variable point on the elipse  with

foci  If A is the area of the triangle  then

maximum value of A is

A. ab

B. abe

C. 

D. 

Answer: B

Watch Video Solution

+ = 1
x2

a2

y2

b2

F1 and F2. PF1F2,

e

ab

ab

e

https://dl.doubtnut.com/l/_tXdzfFV6ei9X
https://dl.doubtnut.com/l/_nIPujcNOe1YE
https://dl.doubtnut.com/l/_AebN77Wwzij0


119. The equation of the hyperbola with vertices  and

foci  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(0, ± 15)

(0, ± 20)

−
x2

175

y2

2250 = 1

− = 1
x2

625

y3

125

− = 1
y2

225

x2

125

− = 1
y2

225

x2

175

120. The equation of the hyperbola whose foci are (-2, 0) and (2,0)

and eccentricity is 2 is given by

A. x2 − 3y2 = 3

https://dl.doubtnut.com/l/_AebN77Wwzij0
https://dl.doubtnut.com/l/_TYsJLabIWJ0I


B. 

C. 

D. 

Answer: B

Watch Video Solution

3x2 − y2 = 3

−x2 + 3y2 = 3

−3x2 + y2 = 3

121. If the distance between the foci of a hyperbola is
 
 and its

eccentricity is 
, then obtain its equation.

A. 

B. 

C. 

D. 

16

√2

x2 − y2 = 32

− = 1
x2

4

y2

9

2x2 − 3y2 = 7

y2 − x2 = 32

https://dl.doubtnut.com/l/_TYsJLabIWJ0I
https://dl.doubtnut.com/l/_BtSa84gNk814


Answer: A

Watch Video Solution

122. The equation of hyperbola whose coordinates of the foci are

 and the length of latus rectum is 24 units is _

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

( ± 8, 0)

3x2 − y2 = 48

4x2 − y2 = 48

x2 − 3y2 = 48

x2 − 4y2 = 48

https://dl.doubtnut.com/l/_BtSa84gNk814
https://dl.doubtnut.com/l/_QIXapGAqqEyu


123. The foci of the hyperbola 

 are

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

16x2 − 9y2 − 64x + 18y − 90 = 0

( , 1)
24 ± 5√145

12

( , 1)
21 ± 5√145

12

(1, , 1)
24 ± 5√145

2

(1, )
21 ± 5√145

2

124. If  is a hyperbola then which of the following

statement is true.

A.  lies on the hyperbola

− = 1
x2

36

y2

k2

( − 2, 1)

https://dl.doubtnut.com/l/_3rSkttUyMM5B
https://dl.doubtnut.com/l/_zfbuzavHaGb4


B.  lies on the hyperbola

C.  lies on the hyperbola

D.  lies o the hyperbola

Answer: C

Watch Video Solution

(3, 1)

(10, 4)

(5, 2)

125. The equation  represents a hyperbola

if

A. a hyperbola is 

B. an ellipse if 

C. a hyperbola if 

D. None of these

+ = 1
x2

12 − k

y2

8 − k

k < 8

k > 8

8 < k < 12

https://dl.doubtnut.com/l/_zfbuzavHaGb4
https://dl.doubtnut.com/l/_zc10zaBZ4pm3


Answer: C

Watch Video Solution

126. Which of the followig is the equation of a hyperbola ?

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 4x + 16y + 17 = 0

4x2 + 4y2 − 16x + 4y − 60 = 0

4x2 + 4y2 + 4x + 2y − 27 = 0

x2 − y2 + 3x − 2y − 43 = 0

https://dl.doubtnut.com/l/_zc10zaBZ4pm3
https://dl.doubtnut.com/l/_o2e7bDwwTA3m


127. The length of transverse axis of the hyperbola

 is

A. 

B. 

C. 

D. 

Answer: A

View Text Solution

3x2 − 4y2 = 32

8√2

√3

16√2

√3

3

32

64
3

128. The directrix of the hyperbola  is

A. 

B. 

− = 1
x2

9

y2

4

x = 9√13

y =
9

√13

https://dl.doubtnut.com/l/_vwSoLLUj7GLk
https://dl.doubtnut.com/l/_om9R2Inbji4n


C. 

D. 

Answer: A

Watch Video Solution

x = 6√13

y =
6

√13

129. The eccentricity of the conic  is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

x2 − 4y2 = 1

2

√3

√3

2

2

√3

√5

2

https://dl.doubtnut.com/l/_om9R2Inbji4n
https://dl.doubtnut.com/l/_LJrSex0X82sc


130. The eccentricity of the hyperbola , is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

(x2 − y2) = 1
√1999

3

√3

√2

2

2√2

131. Eccentricity of the hyperbola passing through (3,0) and

 is

A. 

(3√2, 2)

√13

https://dl.doubtnut.com/l/_LJrSex0X82sc
https://dl.doubtnut.com/l/_xxlWyvJujvg7
https://dl.doubtnut.com/l/_pn9Qs5ibjxQH


B. 

C. 

D. 

Answer: B

Watch Video Solution

√13

3

√13

4

√13

2

132. The eccentricity of the hyperbola whose length of the latus

rectum is
equal to 8 and the length of its conjugate axis is equal

to half of the
distance between its foci, is :
(1) 
(2) 
 (3) 

(4) 

A. 

B. 

C. 

4
3

4

√3

2

√3

√3

3

4

4

√3

2

√3

https://dl.doubtnut.com/l/_pn9Qs5ibjxQH
https://dl.doubtnut.com/l/_e3DX1Oa4gjzf


D. 

Answer: C

Watch Video Solution

√3

133. If the eccentricity of the hyperbola

 respectively

then prove that : 

A. 1

B. 2

C. 3

D. 4

− = 1 and − = 1  are e1 and e2
x2

a2

y2

9

y2

b2

x2

a2

+
1

e2
1

1

e2
2

https://dl.doubtnut.com/l/_e3DX1Oa4gjzf
https://dl.doubtnut.com/l/_PWV8aR3fS2sz


Answer: A

Watch Video Solution

134. The difference of the focal distance of any point on the

hyperbola  is

A. 8

B. 7

C. 6

D. 4

Answer: A

Watch Video Solution

9x2 − 16y2 = 144,

https://dl.doubtnut.com/l/_PWV8aR3fS2sz
https://dl.doubtnut.com/l/_y0jOAFocOcOp


135. The distance between two directrices of a rectangular

hyperbola is 10
units. Find the distance between its foci.

A. 

B. 5

C. 

D. 

Answer: D

Watch Video Solution

10√2

5√2

20

136. IF t is a parameter, then  and 

represents

A. an ellipse

x = a(t + )
1

t
y = b(t − )

1

t

https://dl.doubtnut.com/l/_3n4t8cyM0VPr
https://dl.doubtnut.com/l/_RSx1lmPCwzIe


B. a circle

C. a pair of straight lines

D. A hyperbola

Answer: D

Watch Video Solution

137.  reprsents

A. a pair of straight lines

B. an ellipse

C. a hyperbola

D. a parabola

Answer: C

x2, − 4y2 − 2x + 16y − 40 = 0

https://dl.doubtnut.com/l/_RSx1lmPCwzIe
https://dl.doubtnut.com/l/_AARxIVymXFeA


Watch Video Solution

138. The locust of the point of intersection of lines

=0 and  for different

value of k is a hyperbola whose eccentricity is 2.

A. circle

B. parabola

C. hyperbola

D. ellipse

Answer: C

Watch Video Solution

√3x − y − 4√3k √2kx + ky − 4√3 = 0

https://dl.doubtnut.com/l/_AARxIVymXFeA
https://dl.doubtnut.com/l/_mc2JT4wlmjrY


139. The line segment joining the foci of the hyperbola

 is one of thediameters of a circle. The equation

of the circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2– y2 + 1 = 0

x2 + y2 = 4

x2 + y2 = √2

x2 + y2 = 2

x2 + y2 = 2√2

140. If the foci of the ellipse  and the hyperbola 

 coincide, the find the value of .

+ = 1
x2

16

y2

b2

− =
x2

144

y2

81

1

125
b2

https://dl.doubtnut.com/l/_x0zjwCIhaiNq
https://dl.doubtnut.com/l/_7Z73GvNTZDgk


A. 1

B. 5

C. 7

D. 9

Answer: C

Watch Video Solution

141. Let the eccentricity of the hyperbola  be

reciprocal to that of the ellipse  then the ratio 

 equals

A. 

B. 

C. 

− = 1
x2

a2

y3

b2

x2 + 9y2 = 9,

a2 : b2

8: 1

1: 8

9: 1

https://dl.doubtnut.com/l/_7Z73GvNTZDgk
https://dl.doubtnut.com/l/_fyRuc30qo04W


D. 

Answer: A

Watch Video Solution

1: 9

142. Let the eccentricity of the hyperbola  be the

reciprocal to that of the ellipse . If the hyperbola

passes through a focus of the ellipse, then the equation of the

hyperbola, is

A. 

B. 

C. 

D. 

Answer: A

− = 1
x2

a2

y2

b2

x2 + 4y2 = 4

(2, 0)

(0, 2)

(3, 0)

(0, 3)

https://dl.doubtnut.com/l/_fyRuc30qo04W
https://dl.doubtnut.com/l/_F7W59gdp88Dy


Watch Video Solution

143. The length of the straight line  intercept by the

hyperbola  is

A. units

B.  units

C.  units

D.  units

Answer: D

Watch Video Solution

x − 3y = 1,

x2 − 4y2 = 1

√10

6

5

1

√10

√10
6

5

144. The locue of the mis-points of the chords of the circel

 which make an angle of  at thex2 + y2 + 2x − 2y − 2 = 0 90∘

https://dl.doubtnut.com/l/_F7W59gdp88Dy
https://dl.doubtnut.com/l/_DD6KqiucccN8
https://dl.doubtnut.com/l/_sOvaYeKRqfgn


centre is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 − 2x − 2y = 0

x2 + y2 − 2x + 2y = 0

x2 + y2 + 2x − 2y = 0

x2 + y2 + 2x − 2y − 1 = 0

145. If  touches the circle 

 then k can be

A. 

B. 

C. 

x + y + k = 0

x2 + y2 − 2x − 4y + 3 = 0,

−1, 5

1, − 5

1, 5

https://dl.doubtnut.com/l/_sOvaYeKRqfgn
https://dl.doubtnut.com/l/_a1yQUIjlUpjJ


D. 

Answer: D

Watch Video Solution

−1, − 5

146. If the lines 
 are

tangents to a circle, then find the radius of the
circle.

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

3x − 4y + 4 = 0adn6x − 8y − 7 = 0

3

2

3

4

1

10

1

20

https://dl.doubtnut.com/l/_a1yQUIjlUpjJ
https://dl.doubtnut.com/l/_hMS9iHp9hOTe


147. From the point A(0,3) on the circle 

a chord AB is drawn to a point such that AM = 2AB. The equation

of the locus of M is :-

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

x2 + 4x + (y − 3)2 = 0

x2 + y2 − 8x − 6y + 9 = 0

x2 + y2 = 8x + 6y + 9 = 0

x2 + y2 + 8x − 6y + 9 = 0

x2 + y2 − 8x + 6y + 9 = 0

148. For any  then locus 


 touches the line

a ∈ R,

x2 + y2 − 2ay + a2 = 0

https://dl.doubtnut.com/l/_eeIU71500OGB
https://dl.doubtnut.com/l/_4UYa1e7UQBjE


A. 

B. 

C. 

D. None of these

Answer: B

Watch Video Solution

x = y

x = 0

x + y = 0

149. The equation of a diameter of circle ,

passing through origin is

A. 

B. 

C. 

D. 

x2 + y2 − 6x + 2y = 0

x + 3y = 0

x − 3y = 0

3x + y = 0

3x − y = 0

https://dl.doubtnut.com/l/_4UYa1e7UQBjE
https://dl.doubtnut.com/l/_HzcL24zt4Wd9


Answer: A

Watch Video Solution

150. The centres of those circles which touch the circle

 externally and also touch the x -

axis, lie on

A. a circle.

B. an ellipse which is not a circle.

C. a hyperbola.

D. a parabola.

Answer: D

Watch Video Solution

x2 + y2 − 8x − 8y − 4 = 0

https://dl.doubtnut.com/l/_HzcL24zt4Wd9
https://dl.doubtnut.com/l/_gU9OadQGKv1J
https://dl.doubtnut.com/l/_O6VEqypVHWGn


151. Let A be the centre of the circle 

.The tangents at the points B(1,7) and C(4,-2) on the circle meet

at the point D .If  denotes the area of the quadrilateral

ABCD,then  is equal to

A. 150 sq. units

B. 50 sq. units

C. 75 sq. units

D. 70 sq. units

Answer: C

Watch Video Solution

x2 + y2 − 2x − 4y − 20 = 0

Δ

Δ

25

152. Let the orthocentre and centroid of a triangle be

 respectively. If C is the circumcentre of the( − 3, 5) and B(3, 3)

https://dl.doubtnut.com/l/_O6VEqypVHWGn
https://dl.doubtnut.com/l/_7qNYhv2irWnh


triangle then the radrus of the circle having line segment AC as

diameter, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2√10

3√
5

2

3√5

2

√10

153. The equation of a parabola which passes through the point

of intersection of a straight line  and the circel 

 is

A. 

x + y = 0

x2 + y2 + 4y = 0

y2 = 4x

https://dl.doubtnut.com/l/_7qNYhv2irWnh
https://dl.doubtnut.com/l/_uxDYxlh3WlML


B. 

C. 

D. None of these

Answer: C

Watch Video Solution

y2 = x

y2 = 2x

154. Let the equation of an ellipse be  . Then the

radius of the circle with centre  and passing through the

foci of the ellipse is _

A. 9

B. 7

C. 11

D. 5

+ = 1
x2

144

y2

25

(0, √2)

https://dl.doubtnut.com/l/_uxDYxlh3WlML
https://dl.doubtnut.com/l/_1LLSHfrEEspP


Answer: C

Watch Video Solution

155. The lines touch the ellipse 

If the point of intersection of these two lines lie

on a circle, whose centre coincides with the centre of that ellipse,

then the equation of that circle is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y = 2x + √76 and 2y + x = 8

+ = 1.
x2

16

y2

12

x2 + y2 = 16

x2 + y2 = 12

x2 + y2 = 28

x2 + y2 = (4 + √8)
2

https://dl.doubtnut.com/l/_1LLSHfrEEspP
https://dl.doubtnut.com/l/_Ec6BnUtWNfUb


156. A bar of given length moves with its extremities
on two fixed

straight lines at right angles. Show that any point on the bar

describes an ellipse.

A. Circle

B. parabola

C. Ellipse

D. Hyperbola

Answer: C

Watch Video Solution

157. The distance of the mid -point of line joining two ponts (4,0)

and (0,4) from the centre of the circle  isx2 + y2 = 16

https://dl.doubtnut.com/l/_Ec6BnUtWNfUb
https://dl.doubtnut.com/l/_OVwmqcxFK1dp
https://dl.doubtnut.com/l/_e3StILSTvzSH


A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

√2

2√2

3√2

2√3

158. Tangents are drawn to the hyperbola  at the

points P and Q. If these tangents intersect at the point T(0,3)

then the area (in sq units) of  is

A. 

B. 

C. 

4x2 − y2 = 36

△ PTQ

54√3

60√3

36√5

https://dl.doubtnut.com/l/_e3StILSTvzSH
https://dl.doubtnut.com/l/_JlQ2xZKVSeWR


EVALUATION TEST

D. 

Answer: D

Watch Video Solution

45√5

1. The equation of a circle with origin as centre and passing

through the vertices of an equilateral triangle whose median is

of length 3 a is

A. 

B. 

C. 

D. 

x2 + y2 = 9a2

x2 + y2 = 16a2

x2 + y2 = 4a2

x2 + y2 = a2

https://dl.doubtnut.com/l/_JlQ2xZKVSeWR
https://dl.doubtnut.com/l/_bH9TFMFAuC8f


Answer: C

Watch Video Solution

2. If one end of the diameter is (1, 1) and the other end lies on the

line
 
, then find the locus of the center of the circle.

A. 

B. 

C. 

D. None of these

Answer: C

Watch Video Solution

x + y = 3

x + y = 1

2(x − y) = 5

2x + 2y = 5

https://dl.doubtnut.com/l/_bH9TFMFAuC8f
https://dl.doubtnut.com/l/_T0NDPs7YyL9T


3. The centre of circle
 inscribed in a square formed by lines


 is
 
 
 


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 − 8x + 12 = 0andy2 − 14y + 45 = 0 (4, 7) (7, 4) (9, 4)

(4, 9)

(4, 7)

(7, 4)

(9, 4)

(4, 9)

4. The abscissa of two points A and B are the roots of the

equation  and their ordinates are the roots ofx2 + 2ax − b2 = 0

https://dl.doubtnut.com/l/_CClNzciazcU9
https://dl.doubtnut.com/l/_4PHhDzJ51Z0l


the equation  The equation of the circle with

AB as diameter is

A. 

B. 

C. 

D. None of these

Answer: A

Watch Video Solution

y2 + 2py − q2 = 0.

x2 + y2 + 2ax + 2py − b2 − q2 = 0

x2 + y2 + 2ax + 2py − b2 − q2 = 0

x2 + y2 + 2ax + 2py + b2 + q2 = 0

5. A circle is inscribed in an equilateral triangle of side a. The area

of any square inscribed in this circle is (A)  (B)  (C)  (D) 

A. 

a2

12

a2

6

a2

3

2a2

a2

3

https://dl.doubtnut.com/l/_4PHhDzJ51Z0l
https://dl.doubtnut.com/l/_xFZ4T6IVUOiT


B. 

C. 

D. 

Answer: C

Watch Video Solution

2a2

3

a2

6

a2

12

6. On the parabola  the point least distance from the

straight line y =2x -4 ` is

A. 

B. 

C. 

D. 

y = x2,

(1, 1)

(1, 0)

(1, − 1)

(0, 0)

https://dl.doubtnut.com/l/_xFZ4T6IVUOiT
https://dl.doubtnut.com/l/_JdONBSh4uTDW


Answer: A

Watch Video Solution

7. The equation of a circle passing through the vertex and the

extremites of the latus rectum of the parabola  is

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

y2 = 8x

x2 + y2 + 10x = 0

x2 + y2 + 10y = 0

x2 + y2 − 10x = 0

x2 + y2 − 5x = 0

https://dl.doubtnut.com/l/_JdONBSh4uTDW
https://dl.doubtnut.com/l/_4Tp2lnz6wkrk


8. The eccentricity of the conjugate hyperbola of the hyperbola


is
2 (b) 
(c) 4
(d) 

A. 2

B. 

C. 4

D. 

Answer: A

Watch Video Solution

x2 − 3y2 = 1 2√3
4
5

2

√3

4
3

9. Tht line L passes through the points f intersection of the

circles  and  The length of

perpendicular from center of second circle onto the line L is

x2 + y2 = 25 x2 + y2 − 8x + 7 = 0.

https://dl.doubtnut.com/l/_EEDYQiMwx5RO
https://dl.doubtnut.com/l/_risEH26ZFcrU


A. 4

B. 3

C. 1

D. 0

Answer: D

Watch Video Solution

10. the equation of the circle passing through the foci of the

ellipse  and having centre at (0,3) is

A. 4

B. 3

C. 

D. 

+ = 1
x2

16

y2

9

√12

7
2

https://dl.doubtnut.com/l/_risEH26ZFcrU
https://dl.doubtnut.com/l/_eNVp1hcYqfFN


Answer: A

Watch Video Solution

11. Let the eccentricity of the hyperbola  be the

reciprocal to that of the ellipse . If the hyperbola

passes through a focus of the ellipse, then the equation of the

hyperbola, is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

− = 1
x2

a2

y2

b2

x2 + 4y2 = 4

− = 1
x2

3

y2

2

x2 − 3y2 = 3

− = 1
x2

2

y2

3

3x2 − y2 = 3

https://dl.doubtnut.com/l/_eNVp1hcYqfFN
https://dl.doubtnut.com/l/_AqPQOi5M3ADl


12. An ellipse drawn by taking a diameter of the circle

 as its semiminor axis and a diameter of the

circle  as its semi-major axis. If the centre of

the ellipse is at the origin and its axes are the coordinate axes,

then the equation of the ellipse is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

(x − 1)
2

+ y2 = 1

x2 + (y − 2)
2

= 4

4x2 + y2 = 4

x2 + 4y2 = 8

4x2 + y2 = 8

x2 + 4y2 = 16

https://dl.doubtnut.com/l/_AqPQOi5M3ADl
https://dl.doubtnut.com/l/_9Ue76WXWkE9u


13. The circle  intersects the line 

 at two distinct points, if (a)-85 lt m lt-35 (c) 15 lt m

lt 65 (b)-35 lt m lt 15 (d) 35 lt m lt 85

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

x2 + y2 = 4x + 8y + 5

3x − 4y = m

−35 < m < 15

15 < m < 65

35 < m < 85

−85 < m < − 35

14. Three distinct points  are given in the 2-

dimensional coordinate plane such that the ratio of the distance

of any one of them from the point  to the distance from

A, B and C

(1, 0)

https://dl.doubtnut.com/l/_F8SxGy3FRskq
https://dl.doubtnut.com/l/_Ad4f2wRSHzUt


the point  is equal to  Then the circumcentre of the

triangle  is at the point (1)  (2)  (c)  (d)

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

( − 1, 0) 1: 3.

ABC (0, 0) ( , 0)
5

4
( , 0)

5

2

( , 0)
5

3

(0, 0)

( , 0)
5

4

( , 0)
5

2

( , 0)
5

3

15. The ellipse 
 is inscribed
 in a rectangle aligned

with the coordinate axes, which in turn is inscribed
 in another

ellipse that passes through the point (4, 0). Then the equation of

x2 + 4y2 = 4

https://dl.doubtnut.com/l/_Ad4f2wRSHzUt
https://dl.doubtnut.com/l/_HCJgKTpwYyWf


the ellipse is
 (1) 
 (2) 
 (3) 


(4) 

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

x2 + 16y2 = 16 x2 + 12y2 = 16

4x2 + 48y2 = 48 4x2 + 64y2 = 48

x2 + 16y2 = 16

x2 + 12y2 = 16

4x2 + 48y2 = 48

4x2 + 64y2 = 48

16. The equation of the the circle having x - y - 2 = 0 and x - y + 2 =

0 as two tangents , and x + y = 0 as a diameter is

A. 

B. 

x2 + y2 + 2x − 2y + 1 = 0

x2 + y2 − 2x + 2y − 1 = 0

https://dl.doubtnut.com/l/_HCJgKTpwYyWf
https://dl.doubtnut.com/l/_O15bQ4chqa4t


C. 

D. 

Answer: C

Watch Video Solution

x2 + y2 = 2

x2 + y2 = 1

17. The sum of the minimum distance and the maximum distnace

from the point  to the circle 

 is

A. 20

B. 12

C. 10

D. 16

(4, − 3)

x2 + y2 + 4x − 10y − 7 = 0

https://dl.doubtnut.com/l/_O15bQ4chqa4t
https://dl.doubtnut.com/l/_f7iRU9JDiWv9


Answer: A

Watch Video Solution

18. Let  be the equation of a circle. If  has

equal roots  has roots 

then the centre of the circle is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

f(x, y) = 0 f(0, λ) = 0

λ = 1, 1 and f(λ, 0) = 0 λ = , 2,
1

2

(1, )
1

2

( , 1)
5

4

(5, 4)

( , 1)
1

2

https://dl.doubtnut.com/l/_f7iRU9JDiWv9
https://dl.doubtnut.com/l/_CZvXgBOEcEts
https://dl.doubtnut.com/l/_kuCqybxBEY8N


19. The distance between the vertex of the parabola

 and the centre of the circle 

is.

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

y = x2 − 4x + 3 x2 = 9 − (y − 3)2

2√3

3√2

2√2

2√5

20. Let a circle touches to the directrix of a parabola 

has its centre coinciding with the focus of the parabola. Then the

point of intersection of the parabola and circle is

y2 = 2ax

https://dl.doubtnut.com/l/_kuCqybxBEY8N
https://dl.doubtnut.com/l/_etKgGT8zFeJP


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

(a, − a)

(a/2, a/2)

(a/2, ± a)

( ± a/a/2)

21. Through the vertex 'O' of parabola , chords OP and

OQ are drawn at right angles to one another. Show that for all

positions of P, PQ cuts the axis of the parabola at a fixed point.

Also find the locus of the middle point of PQ.

A. 

B. 

y2 = 4x

y2 = x + 8

y2 = − 2 + 8

https://dl.doubtnut.com/l/_etKgGT8zFeJP
https://dl.doubtnut.com/l/_APVvg2R1TW3k


C. 

D. 

Answer: C

Watch Video Solution

y2 = 2x − 8

y2 = x − 8

22. For each point  on an ellipse, the sum of the distances

from  to the points  is 8. Then the

positive value of x so that (x,3) lies on the ellipse is

A. 2

B. 

C. 

D. 

(a, y)

(x, y) (2, 0) and ( − 2, 0)

2√2

1

√3

4

https://dl.doubtnut.com/l/_APVvg2R1TW3k
https://dl.doubtnut.com/l/_hMXKtjPy7flq


Answer: A

Watch Video Solution

23. The line passing through the extremity 
 of the major exis

and extremity 
 of the minor axis of the ellipse 

meets is auxiliary circle at the point 
 Then the area of the

triangle with vertices at 
 and 
 (the origin) is
 31/10 (b)

29/10 (c) 21/10
(d) 27/10

A. 

B. 

C. 

D. 

Answer: D

A

B x2 + 9y2 = 9

M .

A, M, O

31

10

29

10

21

10

27
10

https://dl.doubtnut.com/l/_hMXKtjPy7flq
https://dl.doubtnut.com/l/_SVPJEmMFaM3r


Watch Video Solution

24. In an ellipse, if the lines joining focus to the extremities of the

minor axis form an equilateral triangle with the minor axis, then

the eccentricity of the ellipse is

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

√3

2

√3

4

1

√2

√
2

3

https://dl.doubtnut.com/l/_SVPJEmMFaM3r
https://dl.doubtnut.com/l/_28oNMTwu4b6C


25. If the area of the auxiliary circle of the ellipse

 is twice the area of the ellipse, then the

eccentricity of the ellipse is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+ = 1(a > b)
x2

a2

y2

b2

1

√2
√3
2

1

√3

1
2

26. If A and B are two fixed points and P is a variable point such

that , the locus of P isPA + PB = 4

https://dl.doubtnut.com/l/_nOqamQb920fB
https://dl.doubtnut.com/l/_vI9OPr2h5twz


A. parabola

B. ellipse

C. hyperbola

D. None of these

Answer: B

Watch Video Solution

27. If A and B are two fixed points and P is a variable point such

that , the locus of P is

A. hyperbola

B. circle

C. parabola

D. ellipse

PA + PB = 4

https://dl.doubtnut.com/l/_vI9OPr2h5twz
https://dl.doubtnut.com/l/_dIyO1NImc79c


Answer: B

Watch Video Solution

28. If the line y = 7x - 25 meets the circle  in the

points A,B then the distance between A and B is

A. 

B. 

C. 

D. 5

Answer: C

Watch Video Solution

x2 + y2 = 25

√10

10

5√2

https://dl.doubtnut.com/l/_dIyO1NImc79c
https://dl.doubtnut.com/l/_feBYUTMnT7GK

